
 
 

B.A. Part I (Sunsidiary) 

1. What is essential for the demand of any goods : 

(a) Desive for a commodity (b) Ability to purchase 

 (c) Willingness to purchage (d) All of the above 

 

(a) fdlh oLrq dh bPNk gksuk 

(b) Ø;'kfDr {kerk 

(c) lk/ku dks O;; djus dh RkRijrk 

(d) mi;qZDr lHkh 

2. Factors affecting demand is not: 

(a) Change in price (b) Change in income 

(c) Change in the Quantity of money (d) None of the above 

 

(a) ewY; esa ifjorZu (b) vk; esa ifjorZu 

(c) eqnzk dh ek=k esa ifjorZu (d) mi;qZDr esa ls dksbZ ugha 

 

 

 

 

 

 

 



 
 

3. What is the nature of demand cueve? 

(a) Demand curve slopes downwards to the right 

(b) Demand curve slopes upwards to the right 

(c) Demand curve slopes upwards to the left 

(d) None of these 

 

(a) js[kk uhps dh vksj nkfguh rjQ >qdrh gSA 

(b) js[kk Åij dh vksj nkfguh rjQ >qdrh gSA 

(c) js[kk Åij dh vksj ck;ha rjQ >qdrh gSA 

(d) buesa ls dksbZ ugha 

4. Law of demand in Giffen Goods is: 

(a) Applied (c) Not applied 

(c) Uncertain (d) None of these 

 

(a) ykxw gksrk gSA (b) ykxw ugha gksrk gSA 

(c) vfuf'pr gksrk gSA (d) buesa ls dksbZ ughaA 

5. Which of the following are substitute Goods. 

(a) Tea and Coffee (b) Motor and Petrol 

(c) Pen and Ink (d) All of the above 

 

(a) pk; vkSj dkWQh (b) eksVj vkSj isVªksy 

(c) iSu o L;kgh (d) mi;qZDr lHkh 



 
 

 

6. Law of equimarginal utility is called: 

(a) Law of increasing utility 

(b) Law of Diminishing utility 

(c) Law of substitutions 

(d) None of these 

 

(a) mi;ksfxrk of̀) fu;e (b) mi;ksfxrk g~kl fu;e 

(c) izfrLFkkiu fu;e (d) buesa ls dksbZ ugha 

7. Who propounded the ordinal utility theory? 

(a) Marshall (b) Pigon 

(c) Hicks & Allen (d) Ricardo 

 

(a) ek'kZy  (b) ihxw 

(c) fgDl ,oa ,syu (d) fjdkMksZ 

8. When marginal utility is negative, then total utility – 

(a) Is maximum (b) Starts Decreasing 

(c) Increasing at Decreasing rate (d) None of these 

 

(a) vf/kdre gksrh gSA (b) ?kVus yxrh gSA 

(c) ?kVrh nj ls c<+rh gSA (d) buesa ls dksbZ ughaA 

 



 
 

9. Elasticity of Demand is a: 

(a) Qualitative statement (b)  Quantitative statement 

(c) Both (a) and (b) (d)  None of these 

 

(a) xq.kkRed dFku (b) ek=kRed dFku 

(c) (a) vkSj (b) nksuksa (d) buesa ls dksbZ ugha 

10. Elasticity of Demand for necessities is: 

(a) Zero  (b) Greater 

(c) Unlimited (d) Less than one 

 

(a) 'kwU;   (b) bdkbZ ls vf/kd 

(c) vlhfer  (d) bdkbZ ls de 

11. Who explained consumer surplus for the first the time 

(a) Malthus (b) Pigon 

(c) Dupit  (d) Boulding 

 

(a) ekYFkl  (b) fixw 

(c) M~;wfiV  (d) cksfYMax 

 

 

 

 



 
 

12. Which rule is the base of consumer surplus? 

(a) Law of Diminishing Returns 

(b) Law of equality 

(c) Law of saving 

(d) None of the above 

 

(a) lhekUr rqf"Vxqe g~kl fu;e  

(b) lekurk dk fu;e 

(c) cpr dk fu;e  

(d) mi;qZDr esa ls dksbZ ugha 

13. Who explained consumer surplus in a scientific way for the first time 

(a) Adam Smith (b) Ricardo 

(c) Marshall (d) Robbions 

 

(a) ,Me fLeFk  (b) fjdkMksZ 

(c) ek'kZy  (d) jkWfcUlu 

 

 

 

 

 

 



 
 

14. What is the reason of consumer surplus? 

(a) Law of Diminishing utility 

(b) Price equal to marginal utility 

(c) Equal price for all units 

(d) All of the above 

 

(a) mi;ksfxrk g~kl fu;e 

(b) lhekar mi;ksfxrk ds cjkcj ewY; 

(c) lHkh voewY;ksa ds fy, leku ewY; 

(d) mi;qZDr lHkh 

15. Consumer surplus is equal to: 

(a) Total utility – (Price x number of units purchased) 

(b) Price – (Total utility x number of units purchased) 

(c) (Numbers of units purchased) – (Total utility x Price) 

(d) None of these 

 

(a) dqy mi;ksfxrk & ¼oLrq dk ewY; × oLrq dh bdkbZ;k¡½ 

(b) oLrq dk ewY; & ¼dqy mi;ksfxrk × oLrq dh bdkbZ;k¡½ 

(c) oLrq dh bdkbZ;k¡ & ¼dqy mi;ksfxrk × oLrq dk ewY;½ 

(d) buesa ls dksbZ ughaA 

 

 



 
 

16. Price elasticity of demand means: 

(a) Change in demand due to change in price 

(b) Change in demand 

(c) Change in real income 

(d) All of the above 

 

(a) dher esa ifjorZu ds dkj.k ek¡x esa ifjorZu 

(b) ek¡x esa ifjorZu 

(c) okLrfod vk; esa ifjorZu 

(d) O;fDr esa ifjorZu 

17. Which of the following shows elasticity less than one: 

(a) Necessity Goods (b) Comfort Goods 

(c) Luxury Goods (d) All of the above 

 

(a) vko';d oLrq (b) vkjkenk;d oLrq 

(c) foykflrk oLrq (d) mi;qZDr lHkhA 

 

 

 

 

 

 



 
 

18. With which method, Elasticity of Demand is measured: 

(a) Total Expendiature method 

(b) Percentage or Partionate Method 

(c) Point method 

(d) All of the above 

 

(a) dqy O;; jhfr 

(b) izfr'kr ;k vkuqikfrd jhfr 

(c) fcUnq jhfr 

(d) mi;qZDr lHkh 

19. The nature of cross elasticity in Complementary Goods: 

(a) Negative (b) Positive 

(c) Both  (d) None of the above 

 

(a) _.kkRed  (b) /kukRed 

(c) nksuksa  (d) mi;qZDr esa ls dksbZ ugha 

 

 

 

 

 



 
 

20. If the demand for a good changes by 80% due to 60% change in price the elasticity of 

demand is: 

(a) 0.5  (b) 1.3 

(c) 1  (d) 0 

60% 80% 

 

(a) 0.5   (b) 1.3 

(c) 1   (d) 0 

 

 
 

 
 



 
 

B.A. PART-I PAPER-II 

UNIT-III 

 

01. The word ‘Bank’ has derived from a Latin word which means: - 

(a) Place, where persons can relax    

(b) An institution for meeting people 

(c) An institution for coordinating people   

(d) A bench for the keeping, lending and exchanging 

 

(a) tgka yksx vkjke dj ldrs gSA 

(b) yksxksa ls feykus ds fy, laLFkkA 

(c) yksxksa ds leUo; ds fy, la[;k 

(d) iSls j[kus] m/kkj nsus vkSj fofue; vkfn ds fy, ,d cSp 
 

02. Which of following is the ancestor of modern banking system? 

(a) Marchant      (b) Money Lender 

(c) Gold Smith     (d) All of the above 

 

(a) O;kikjh  (b) egktu 

(c) ljkZQ ;k lksukj (d) mijksDr lHkhA 
 

 

 

 

 

 

 

 



 
 

03. Which bank is known as bankers bank? 

(a) SBI       (b) RBI 

(c) PNB      (d) NABARD 

 

(a) Hkkjrh; LVsV cSad (b) fjtoZ cSad vkWQ bafM;k 

(c) iatkc us'kuy cSad (d) mijksDr lHkhA 
 

04. Who controls credit in India? 

(a) Govt. of India     (b) RBI 

(c) SBI       (d) Indian Bank 

 

(a) Hkkjr ljdkj (b) fjtoZ cSad vkWQ bafM;k 

(c) LVsV cSad vkWQ bafM;k (d) bafM;u cSad 
 

05. Which of the following is not a function of Central Bank (RBI)? 

(a) Printing Currency     (b) Control of Credit 

(c) Issuance of Coins     (d) Custodian of foreign currency 

 

(a) eqnzk dk eqnz.k (b) lk[k dk fu;a=.k 

(c) flDdksa dks tkjh djuk (d) fons'kh eqnzk ds laj{kd 
 

06. By which name, the current deposit is known as: 

(a) Saving deposit     (b) Demand deposit 

(c) Time deposit     (d) Recurring deposit 

 

(a) cpr tek (b) ekax tek 

(c) lkof/k tek (d) vkorhZ tek 



 
 

 

07. Which deposit is repayable after the expiry of the specified period? 

(a) Demand deposit     (b)Time deposit 

(c) Saving deposit     (d) Recurring deposit 

 

(a) ekax tek  (b) lkof/k tek 

(c) cpr tek  (d) vkorhZ tek 
 

08. In which year RBI Act come into existence? 

(a) 1934      (b) 1935 

(c) 1948      (d) 1945 

 

(a) 1934  (b) 1935 

(c) 1948  (d) 1945 
 

09. Which of the following is known as plastic money? 

(a) Debit Card      (b) Credit Card 

(c) ATM Card      (d) None of these 

 

(a) MsfcV dkMZ  (b) ØsfMV dkMZ 

(c) ,Vh,e dkMZ (d) buesa ls dksbZ ugha 
 

10. When did the banking system reforms initiated? 

(a) 1996      (b) 1901 

(c) 1991      (d) 1989 

 

(a) 1996  (b) 1901 
(c) 1991     (d) 1989 



 
 

11. Monetary Policy of a country is managed by- 

(a) Finance Minister     (b) Central Bank 

(c) Commercial Bank     (d) Board of Revenue 

 

(a) foÙk ea=h  (b) dsfUnz; cSad 

(c) okf.kfT;d cSad (d) jktLo foHkkx 
 

12. The interest rate is at which a commercial bank can barrow money from the central 
bank is known as: 

(a) Repo rate      (b) Reverse Repo rate 

(c) Discount rate     (d) Policy rate 

 

(a) jsiks jsV  (b) fjolZ jsiks jsV 

(c) NwV dh nj  (d) uhfr nj 
 

13. Increase in Cash Reserve Ratio (CRR) by RBI will result in: 

(a) Increase the supply of money in the economy.  

(b) Decrease the supply of money in the economy. 

(c) Initially increase the supply but later decrease automatically.    

(d) No impact on supply of money in the economy. 

 

(a) vFkZO;oLFkk esa eqnzk dh vkiwfrZ esa o`f) gksuk 

(b) vFkZO;oLFkk esa eqnzk dh vkiwfrZ esa deh gksuk 

(c) 'kq: esa of̀) gksuk ijarq ckn esa Lor% deh gksuk 

(d) vFkZO;oLFkk esa eqnzk dh vkiwfrZ ij dksbZ izHkko ugha 
 

 

 



 
 

14. Which among these is not a monetary tool? 

(a) SLR      (b) Open Market Operation 

(c) CRR      (d) Deficit Financing 

 

(a) oS/kkfud rjyrk vuqikr  

(b) [kqys cktkj dh fØ;k 

(c) udn vkjf{kr vuqikr  

(d) ?kkVs dh foÙk&O;oLFkk 
 

15. KYC means  

(a) Know Your Customer    (b) Know Your Creditor 

(c) Know Your Cost     (d) Know Your Card 

KYC  

(a) Know Your Customer  

(b) Know Your Creditor 

(c) Know Your Cost  

(d) Know Your Card 
 

16. Rate of interest is increased by RBI at time of: 

(a) Lower inflation     (b) Higher inflation 

(c) From the pressure of commercial bank  (d) All of the above 

 

(a) eqnzk LQhfr de gks (b) eqnzk LQhfr vf/kd gks 

(c) okf.kfT;d cSadksa ds ncko ls (d) mijksDr lHkh 
 

 

 



 
 

17. Which method does not come under the purview of quantitative control? 

(a) Moral Pressure     (b) Open Market Policy 

(c) Publicity      (d) Direct action 

 

(a) uSfrd vuqu;u (b) [kqys cktkj dh fØ;k,¡ 

(c) izpkj  (d) izR;{k dk;Zokgh 
 

18. Which method does not come under the purview of quantitative control of credit? 

(a) Bank rate      (b) Liquidity Fund Ratio 

(c) Credit allocation     (d) Variable Minimum Fund Ratio 

 

(a) cSad nj  (b) rjy dks"kkuqikr 

(c) lk[k lEHkktu (d) ifjorZu'khy U;wure dks"kkuqikr 
 

19. What is included in the objectives of credit control? 

(a) Stability in exchange rates  

(b) Stability in price level 

(c) Stability at high levels of income and employment 

(d) All of above 

 

(a) fofue; njksa esa fLFkjrk  

(b) dher Lrj esa fLFkjrk 

(c) vk; vkSj jkstxkj ds mPp Lrj ij fLFkjrk 

(d) buesa ls dksbZ ugha 
 

 

 



 
 

20. When the central bank sells securities in the open market, what will be its effect, 
other things being equal? 

(a) Contraction of funds for credit building. (b) Expansion of funds for credit building. 

(c) Both (a) and (b)    (d) None of above 

 

(a) lk[k fuekZ.k ds fy, dks"kksa dk ladqpu 

(b) lk[k fuekZ.k ds fy, dks"kksa dk foLrkj 

(c) mi;qZDr nksuksa 

(d) mi;qZDr esa dksbZ ugha 
 

21. Which method of credit control most affects the demand for credit in economy? 

(a) Bank rate policy     (b) Open market operation 

(c) Variable fund ratio     (d) Minimum fund ratio 

 

(a) cSad nj uhfr (b) [kqys cktkj dh fØ;k,a 

(c) ifjorZu'khy dks"kkuqikr (d) U;wure dks"kkuqikr 
 

22. Relationship between bank rate policy and open market action in India? 

(a) Incompatible     (b) Complementary 

(c) Substitutional     (d) None of these 

 

(a) fojks/kh  (b) iwjd 

(c) LFkkukiUu  (d) dksbZ ugha 
 

 

 

 



 
 

23. Reserve Bank of India (RBI) started its work from? 

(a) 1 April 1935     (b) 6 October 1956  

(c) 1 July 1950     (d) 1 January 1949 

 

(a) 1 vizSy] 1935 (b) 6 vDVwcj] 1956 

(c) 1 tqykbZ] 1950 (d) 1 tuojh] 1949 
 

24. When was NABARD established? 

(a) 30 November 1981    (b) 12 July 1982 

(c) 26 June 1982     (d) 25 October 1979 

 

(a) 30 uoEcj] 1981 (b) 12 tqykbZ] 1982 

(c) 26 twu] 1982 (d) uoEcj] 1979 
 

25. Which of the following is the largest nationalized bank in India? 

(a) RBI      (b) SBI 

(c) CBI      (d) PNB 

 

(a) RBI  (b) SBI 

(c) CBI  (d) New Bank of India 
 

26. How do commercial bank get money supply? 

(a) By demand deposit creation    (b) Currency issuance 

(c) By time and saving deposit     (d) All of the above 

 

(a) ekax tek,a l`tu ls (b) uksV fuxZeu ls 

(c) le; ,oa cpr tekvksa ls (d) mijksDr lHkh ls 



 
 

 

27. How dose the central bank does credit creation? 

(a) By issuing paper currency  

(b) By accepting initial deposits of individuals  

(c) By derivatives deposits 

(d) All of above 

 

(a) dkxth eqnzk fuxZeu djds  

(b) O;fDr;ksa dh izkjafHkd tek Lohdkj djds 

(c) O;qRiUu fu{ksiksa ds }kjk 

(d) mijksDr lHkh 
 

28. Who has the right to issue paper currency? 

(a) Commercial Bank     (b) Central Bank 

(c) Finance Commission    (d) None of these 

 

(a) O;kikfjd cSad (b) dsfUnz; cSad 

(c) foÙkh; vk;ksx (d) buesa ls dksbZ ugha 
 

29. State Bank of India was established on the recommendation of which committee? 

(a) Shroff Committee     (b) Gorwala Committee 

(c) Hilton Young Committee    (d) Mudaliar Committee 

 

(a) JkWQ lfefr  (b) xksjokyk lfefr 

(c) fgYVu&;ax lfefr (d) eqnkfy;j lfefr 
 

 



 
 

30. What meant by open market operations. 

(a) Taking loan from RBI by scheduled banks.     

(b) Leading by commercial bank. 

(c) Buying and selling by government securities by RBI  

(d) Deposit Collections 

 

(a) vuqlwfpr cSadks }kjk RBI ls _.k ysuk 

(b) okf.kfT;d cSadksa }kjk _.k ysuk 

(c) vkjchvkbZ }kjk ljdkjh izfrHkwfr;ksa dk Ø; vkSj foØ;A 

(d) tek laxzg.k 
 

31. The first reginal rural bank was established in? 

(a) 1975      (b) 1974 

(c) 1976      (d) 1977 

 

(a) 1975  (b) 1974 

(c) 1976  (d) 1977 
 

 

 

 

 

 

 

 

 

 

 



 
 

32. The lowering of bank rate by the Reserve Bank of India leads to: 

(a) Less liquidity in the market    

(b) More liquidity of market 

(c) Mobilization of more deposits by commercial bank  

(d) No change in the liquidity in the market 

 

(a) cktkj esa de rjyrk 

(b) cktkj esa vf/kd rjyrk 

(c) okf.kfT;d cSad }kjk vf/kd tekjkf'k tqVkuk 

(d) cktkj esa rjyrk esa dksbZ cnyko ughaA 
 

33. Full form of SLR is- 

(a) State Locality Reserve    (b) Sundry Leverage Ratio 

(c) State Level Recovery    (d) Statutory Liquidity Ratio 

SLR  

(a) State Locality Reserve 

(b) Sundry Leverage Ratio 

(c) State Level Recovery 

(d) Statutory Liquidity Ratio 
 

 

 

 

 

 

 

 



 
 

34. Nationalization of banks was done with the purpose of – 

(a) Financing the industries    (b) Improving credit facilities 

(c) Consolidating the economy   (d) Improving the security of deposits 

 

(a) m/kksxksa dk foÙk iks"k.k 

(b) _.k lqfo/kkvksa esa lq/kkj 

(c) vFkZO;oLFkk dks etcwr djuk 

(d) tek dh lqj{kk esa lq/kkj 
 

35.The control co-operative banks are in direct touch with – 

(a) Farmers      (b) State co-operative bank 

(c) Land development bank    (d) Central government 

 

(a) jkT; lgdkjh cSad (b) Hkwfe fodkl cSad 

(c) Hkwfe fodkl cSad (d) Hkkjr ljdkj 
 

36. The rate as which banks lend to RBI is known as? 

(a) Bank Rate      (b) Repo Rate 

(c) Reverse Repo Rate    (d) Interest Rate 

 

(a) cSad nj  (b) jsiks nj 

(c) fjolZ jsiks nj (d) C;kt nj 
 

 

 

 

 



 
 

37. In 1921 the presidency Banks of Bengal, Madras and Bombay were nationalized to 
given birth to: 

(a) Panjab National Bank    (b) Syndicate Bank 

(c) State Bank of India    (d) Punjab & Sindh Bank 

1921 

 

(a) iatkc us'kuy cSad (b) flafMdsV cSad 

(c) Hkkjrh; LVsV cSad (d) iatkc vkSj fla/k cSad 
 

38. Which of the following Indian Banks is not a Nationalized bank? 

(a) Corporation Bank     (b) Dena Bank 

(c) Federal Bank     (d) Vijaya Bank 

 

(a) dkWiksZjs'ku cSad (b) nsuk cSad 

(c) QsMjy cSad  (d) fot;k cSad 
 

39. The first complete commercial bank of India is- 

(a) Oudh Commercial Bank    (b) Dena Bank 

(c) Imperial Bank     (d) Presidency Bank 

 

(a) vkS/k okf.kfT;d cSad (b) nsuk cSad 

(c) baisfj;y cSad (d) izslhMsalh cSad 
 

 

 

 

 

 



 
 

40. A Schedule Bank is the one which is included in the: 

(a) II scheduled of banking regulation Act. 

(b) II scheduled of constitution. 

(c) II schedule of RBI Act. 

(d) None of the above. 

 

(a) cSafdax fofue; vf/kfu;e dh II vuqlwph esa 

(b) lafo/kku dh nwljh vuqlwph esa 

(c) vkjchvkbZ vf/kfu;e dh II vuqlwph esa 

(d) mijksDr esa ls dksbZ ugha 
 

41. Who regulates the money circulation in India? 

(a) SBI       (b) RBI 

(c) NABARD      (d) Commercial Bank 

 

(a) Hkkjrh; LVsV cSad (b) fjtoZ cSad vkWQ bafM;k 

(c) ukckMZ  (d) okf.kfT;d cSad 
 

42. When was Imperial bank changed to State Bank of India? 

(a) 26 February      (b) 1 July 1945 

(c) 1 July 1947     (d) 1 July 1955 

 

(a) 26 Qjojh] 1947 (b) 1 tqykbZ] 1945 

(c) 1 tqykbZ] 1947 (d) 1 tqykbZ] 1955 
 

 

 



 
 

43. How many banks were first time nationalized? 

(a) 6       (b) 14 

(c) 16       (d) 20 

 

(a) 6    (b) 14 

(c) 16    (d) 20 
 

44. Bank provides loans for: 

(a) Home      (b) Car 

(c) Education      (d) All of above 

 

(a) ?kj ds fy,   (b) dkj ds fy, 

(c) f'k{kk ds fy,  (d) mijksDr lHkh 
 

45. What is the defect of the barter system? 

(a) Lack of double coincidence of wants    

(b) Difficulty in the measurement of value  

(c) Difficulty in store of value     

(d) All of above 

 

(a) vko';drkvksa ds nksgjs la;ksx dk vHkko 

(b) ewY; dh eki esa dfBukbZ 

(c) ewY; ds HkaMkj esa dfBukbZ 

(d) mijksDr lHkh 
 

 

 



 
 

46. In order to encourage investment in economy, the central bank may- 

(a) Reduce the cash reserve ratio   (b) Increase cash reserve ratio 

(c) Sell government securities in open market (d) Increase bank rate 

 

(a) udn vkjf{kr vuqikr esa deh 

(b) ewY; dh eki esa dfBukbZ 

(c) [kqys cktkj esa ljdkjh izfrHkwfr;ksa dh fcØh 

(d) cSad nj esa of̀) 
 

47. The ratio of total deposits that a commercial bank has to keep with RBI is called: 

(a) SLR       (b) Deposit Ratio 

(c) CRR      (d) Legal Reserve Ratio 

 

(a) oS/kkfud rjyrk vuqikr  (b) tek vuqikr 

(c) udn vkjf{kr vuqikr  (d) oS/kkfud vkjf{kr vuqikr 
 

48. Which function is the secondary function of commercial banks? 

(a) Agency Function     (b) General Utility Function 

(c) Social function     (d) All of above 

 

(a) ,tsalh laca/kh dk;Z  (b) lkekU; mi;ksfxrk laca/kh dk;Z 

(c) lkekftd laca/kh dk;Z  (d) mijksDr lHkh 
 

 

 

 



 
 

49. Which of the following functions is correct? 

(a) NABARD    -   Industrial loan  

(b) IDBI   -   Short term loan 

(c) RBI   -   Long term loan    

(d) RRB   -   Agricultural finance 

 

(a) NABARD        –     Industrial Loans 

(b) IDBI                 –    Short Term Loans 

(c) RBI                   –    Long Term Loans 

(d) RRB                 –     Agricultural Finance 

 

 
 

 
 



 
 

Unit 5 B.A. Part I Paper II 

1. What is the basic message of the theory of comparative advantage? 

(A) Countries are similar in their ability to produce goods efficiently. 

(B) International trade is rarely beneficial to a country. 

(C) Potential world production is greater with unrestricted free trade then it is with restricted 

trade. 

(D) Trade is a zero-sum game. 

 

(a) dq'ky :Ik ls oLrq,¡ mRikfnr djus esa ns'kksa dh lkeF;Z leku gS 

(b) varjkZ"Vªh; O;kikj ,d ns'k ds fy, fojys gh ykHknk;h gS& 

(c) vckf/kr laHkkO; ds v/khu eqDr O;kikj fo'o mRikn ckf/kr O;kikj dh vis{kk vf/kd gksrk gS 

(d) O;kikj ,d 'kwU; ;ksx [ksy gS 
 

2. Only factor of production which classical economists considered for international 

trade was 

(A) Capital  (B) Labour (C) Land  (D) None of these 

 

(a) iw¡th   (b) Je 

(c) Hkwfe   (d) buesa ls dksbZ ugha 
 

 

 

 

 



 
 

3. It helps countries to meet deficit in balance of payments 

(A) IMF  (B) WTO (C) World Bank (D) UNO 

 

 (a) IMF  (b) WTO 

 (c) World Bank (d) UNO 
 

4. In balance of payments of country is in deficit then 

(A) Current account will be in deficit. 

(B) Country can increase money supply to meet deficit.  

(C) The country can borrow from abroad. 

(D) (A) and (C) of above 

 

 (a) pkyw [kkrk ?kkVs esa jgsxkA 

 (b) ?kkVs dks iwjk djus ds fy, [kkrk dbZ vkiwfrZ c<+k ldrk gSA 

 (c) ns'k fons'kksa ls m/kkj ys ldrk gS 

 (d) mijksDr (a) rFkk (c) 
 

 

 

 

 

 

 

 



 
 

5. Foreign exchange reserves increase if  

(A) Govt. increase taxes  

(B) Exports increase imports remain the same 

(C) Imports increase exports remain the same 

(D) (A) and (B) of the above  

 

 (a) ljdkj VSDl esa òf) djrh gSA 

 (b) fu;kZr c<+rk gS tcfd vk;kr esa dksbZ ifjorZu ugha gksrkA 

 (c) vk;kr c<+rk gS tcfd fu;kZr esa dksbZ ifjorZu ugha gksrk 

 (d) (a) rFkk (b) nksuksa 
 

6. Which of the following organisation provides guarantee to exporters? 

(A) EXIM Bank  (B) Exports loan Guarantee Corporation 

(C)  RBI   (D) Commerce Ministry 

 

 (a) ,fDte cSad (b) fu;kZr _.k xkjaVh fuxe 

 (c) fjtoZ cSad vkWQ bafM;k (d) okf.kT; ea=ky; 
7. Hecksher – Ohlin theory of International trade assumes ______________ 

Countries * Commodities * factors of production. 

(A)  2 * 2 *2  (B) 2 * 2 * 1  (C) 2 * 3 * 2 (D) 3 * 2 * 2 

 *  *

 (a) 2* 2* 2 (b) 2* 2* 1 

 (c) 2* 3* 2 (d) 3* 2* 2 
 



 
 

 

8. In case of Hecksher –Ohlin theory of International trade, factor abundance in 

physical terms refers to. 

(A) TK1 / TL1 > TK2 / TL2 (B) PK1 / PL1 < PK2 / PL2 

(C) None of these   (D) All of these 

 

 (a) TK1 / TL1   >   TK2  /  TL2 

 (b) PK1 / PL1   >   PK2  /  PL2 

 (c) buesa ls dksbZ ugha 

 (d) mijksDr lHkh 
 

9. Labour is the only factor of production according to the ___________ theory of 

International trade. 

(A)    Classical   (B)    Modern (C)   None of these  (D)   All of these 

 

 (a) izfrf"Br (b) vk/kqfud 

 (c) buesa ls dksbZ ugha (d) buesa ls lHkh 
 

10.  In case of composition of International trade ____________ play major role. 

(A)  Manufactures   (B) Agricultural Products 

(C)  Fuel and Mining   (D) All of these 

 

 (a) fofuekZ.k (b) Ñf"k mRikn 

 (c) bZa/ku ,oa [kuu (d) mijksDr lHkh 
 



 
 

11. Trade in differentiated products refers to  

(A) Intra industry trade   (B) Inter industry trade 

(C) Trade based on economics of scale (D)  None of the above 

 

 (a) varjk m/kksx O;kikj 

 (b) varj m/kksx O;kikj 

 (c) iSekus dh cprksa ij vk/kkfjr O;kikj 

 (d) buesa ls dksbZ ugha 
 

12. Adam Smith identified the basic reason for trade between two Nations as 

(A)  The difference in Absolute advantage 

(B)  The difference in Comparative advantage 

(C)   Difference in factor endowments 

(D)  None of the above 

 

 (a) fujis{k ykHk esa varj  

 (b) rqyukRed ykxr esa varj 

 (c) lk/ku miyC/krk esa varj  

 (d) mijksDr esa ls dksbZ ugha 
 

 

 

 

 

 

 

 



 
 

13. The Hecksher-Ohlin theory postulates that as a result of trade the difference in 

factor prices between nations 

(A) Diminishes     (B) Increases   

(C) Remain Unchanged    (D) None of the above 

 

 (a) ?kVrk gS (b) c<+rk gS 

 (c) vifjofrZr jgrk gS (d) mijksDr esa ls dksbZ ugha 
 

14. If a notion terms of trade is ½ its trade partners terms of trade is  

(A) 4 (B) 2 (C) 1  (D) ½ 

½ 

 

 (a) 4  (b) 2 

 (c) 1  (d) ½  
 

15. Ricardian theory assumes perfect mobility of labour  

(A) Within the country    (B) Between the countries 

(C) Both within and between the countries  (D) None of these 

 

 (a) ns'k ds vUnj  

 (b) ns'kksa ds chp 

 (c) ns'k ds vUnj vkSj ns'kksa ds chp  

 (d) buesa ls dksbZ ugha 
 

 

 



 
 

16. According to Ricardo, International trade is useful under 

(A) Absolute Cost   (B) Comparative Cost 

(C) Equal difference in Cost  (D) Zero Cost 

 

 (a) fujis{k ykxr (b) rqyukRed ykxr 

 (c) ykxr esa leku varj (d) 'kwU; ykxr 
 

17. The theory of Relative factor endowments given by 

(A) David Ricardo   (B) Adam Smith 

(C) Ohlin and Hecksher  (D) None of the above 

 

 (a) MsfoM fjdkMksZ ds }kjk (b) ,Me fLeFk ds }kjk 

 (c) vksgfyu rFkk gsDlpj ds }kjk (d) buesa ls dksbZ ugha 
 

Answer the next 4 Questions 18, 19, 20, 21 based on the production table below:- 

Country : Output per Labour Hour 

 A B 

Product X 3 9 

Product Y 4 2 

 

Country : Output per Lobor Hour 

 A B 

Product X 3 9 

Product Y 4 2 
 

 



 
 

18. Country A has an absolute advantage in  

(A) Product X     (B) Product Y  

(C) Neither X nor Y    (D) Both X and Y 

A  

 (a) mRikn X esa (b) mRikn Y esa 

 (c) uk rks X vkSj uk gh Y (d) X rFkk Y nksuksa esa 
 

19. Country B has an absolute advantage in 

(A) Products X     (B) Product Y 

(C) Neither X nor Y     (D) Both X and Y 

B  

 (a) oLrq X esa  

 (b) oLrq Y es 

 (c) uk rks X vkSj uk gh Y esa  

 (d) X rFkk Y nksuksa esa 
 

20. If the countries were to trade along the lines of absolute advantage : 

(A)  A would export X to B    

(B)  B would Import Y from A 

(C)  Neither country would went to trade  

(D) None of the above 

 

 (a) A oLrq X dk B dks fu;kZr djsxk  

 (b) B oLrq Y dk A ls vk;kr djsxk 

 (c) dksbZ Hkh ns'k O;kikj djus ugha tk,xk 
  

(d) buesa ls dksbZ ugha 



 
 

 

21. If countries were to trade along the lines of comparative advantage 

(A)  A would export X to B 

(B)  A would export Y to B 

(C)  Neither country would went to trade 

(D) None of the above 

 

 (a) A oLrq X dk B dks fu;kZr djsxk  

 (b) B oLrq Y dk B dks fu;kZr djsxk 

 (c) dksbZ Hkh ns'k O;kikj djus ugha tk,xk 

 (d) buesa ls dksbZ ugha 
 

22. The term of trade of developing countries have a secular tendency to 

(A) Improve 

(B) Deteriorate 

(C) First improve and then deteriorate 

(D) Remain the same 

 

 (a) lq/kkj gksxk  

 (b) fcxM+rh gS 

 (c) igys lq/kkj rFkk ckn esa fcxM+ tkrh gS 

 (d) fLFkj  
 

 

 

 

 

 



 
 

23. If a nation gains from trade its consumption point is 

(A) On the production possibility frontier 

(B)  Inside the production possibility curve 

(C) Above the production possibility curve 

(D) None of the above 

 

 (a) mRiknu laHkkouk oØ ij  

 (b) mRiknu laHkkouk oØ ds vanj 

 (c) mRiknu laHkkouk oØ ls Åij  
 (d) buesa ls dksbZ ugha 

24. The absolute slope of a concave PPC is given by 

(A)  Internal equilibrium price ratio 

(B) The marginal rate of transformation 

(C) Increasing returns to scale 

(D) None of the above 

 

 (a) vkarfjd larqyu dh dher vuqikr 

 (b) :ikarj.k dh lhekar nj 

 (c) iSekus ds c<+rs izfrQy 

 (d) buesa ls dksbZ ugha 
 

 

 

 

 

 

 

 

 



 
 

25. Devaluation works best when 

(A)  It is accompanied by a decline in short term interest rate 

(B) Foreign demand for export is elastic 

(C) Demand for foreign imports is inelastic 

(D) None of the above 

 

 (a) blds lkFk vYidky esa C;kt dh njsa ?kVrh gks 

 (b) fu;kZrksa dh fons'kh ekax ykspnkj gks 

 (c) vk;rksa dh ekax csykspnkj gks 

 (d) buesa ls dksbZ ugha 
 

26. BOP includes 

(A)  Current account  (B) Capital account 

(C) Official Reserve account (D) All of the above 

 

 (a) pkyw [kkrk (b) iw¡th [kkrk 

 (c) vkWfQf'k;y fjtoZ [kkrk (d) lHkh 

 

 

 

 

 

 

 

 



 
 

27. Which is not an advantage of international trade 

(A) Export of surplus production 

(B) Import of defence material 

(C) Dependence on foreign countries 

(D) Availability of cheap row materials 

 

 (a) vf/k'ks"k mRiknu dk fu;kZr  

 (b) j{kk lkexzh dk vk;kr 

 (c) fons'kksa ij fuHkZjrk  

 (d) lLrs dPps eky dh miyC/krk 
 

28. Net exports equal : 

(A) Exports x imports  (B) Exports + Imports 

(C) Exports – imports  (D) Exports of services only 

 

 (a) fu;kZr × vk;kr (b) fu;kZr + vk;kr 

 (c) fu;kZr – vk;kr (d) lsokvksa dk fu;kZr flQZ 
 

 

 

 

 

 

 

 

 

 

 

 



 
 

29. A tariff : 

(A) Increase the volume of trade 

(B) Reduces the volume of trade 

(C) Has no effect on volume of trade 

(D) (B) and (C) of above 

 

 (a) O;kikj dh ek=k esa of̀) djrk gS 

 (b) O;kikj dh ek=k esa deh djs 

 (c) O;kikj dh ek=k esa dksbZ izHkko ugha iM+rk 

 (d) Åij ls (b) rFkk (c)  
 

30. Dumping refers to  

(A) Buying goods at low prices abroad and selling at higher prices locally 

(B) Expensive selling for low prices 

(C) Reducing tariffs 

(D) Sale of goods abroad at lower price, below their cost and prices in home market 

 

 (a) fons'kksa ls de dherksa ij lkeku [kjhnuk vkSj LFkkuh; Lrj ij mPp dherksa ij cspuk 

 (b) de dherksa ij egaxh oLrqvksa dks cspuk 

 (c) VSfjQ de djuk 

 (d) ?kjsyw cktkj ls viuh ykxr vkSj dher ls de ij fons'kksa esa oLrqvksa dh fcØh 
 

 

 

 

 

 

 



 
 

31. Two countries can gain from foreign trade if  

(A) Cost ratios are different 

(B) Tariff rates are different 

(C) Prices ratios are different 

(D) (A) and (C) of above 

 

 (a) ykxr vuqikr vyx gks (b) VSfjQ nj vyx gks 

 (c) dher vuqikr vyx gks (d) Åij ls (a) rFkk (c)  
 

32. Internal and International trade differ in term of 

(A)  Geographical and climate conditions 

(B) Mobility of factor of production 

(C) Factor endowment 

(D) All of these 

 

 (a) HkkSxksfyd rFkk tyok;q dh fLFkfr  

 (b) mRiknu ds dkjd dh xfr'khyrk 

 (c) lk/ku miyC/krk 

 (d) mijksDr lHkh 
 

 

 

 

 

 

 

 

 

 



 
 

33. Participation in International trade is important as  

(A) It acts as engine of growth  (B) Vent for surplus 

 (C) Widens the market   (D) All of these 

 

 (a) ;g fodkl ds batu ds :Ik esa dk;Z djrk gS 

 (b) vf/k'ks"k ds fy, osaV 

 (c) cktkj dk foLrkj djrk gS 

 (d) mijksDr lHkh 
 

34. Govt. policy about exports and imports called 

(A) Monetary policy   (B) Fiscal policy 

(C) Commercial policy   (D) Finance policy 

 

 (a) ekSfnzd uhfr (b) jktdks"kh; uhfr 

 (c) okf.kfT;d uhfr (d) foÙk uhfr 
 

35. “Term of trade” between two countries refers to a ratio of  

(A)  Export prices to import prices 

(B) Currency values 

(C) Exports to imports 

(D) Balance of trade to balance of payment 

 

 (a) vk;kr dh dherksa ds fy, fu;kZr ewY;  

 (b) eqnzk ewY; 

 (c) vk;kr ds fy, fu;kZr 

 (d) O;kikj larqyu ls Hkqxrku larqyu 



 
 

 

36. It is drawback of protection  

(A) Consumers have to pay higher prices 

(B) Producers get higher profit 

(C) Quality of goods may be affected 

(D) All of the above 

 

 (a) miHkksDrkvksa dks vf/kd dher pqdkuh iM+rh gSA 

 (b) mRiknd mPp ykHk izkIr djrk gSA 

 (c) eky dh xq.koÙkk izHkkfor gks ldrh gS 

 (d) mi;qZDr lHkh 
 

37. According to Hecksher and Ohlin basic cause of International trade is 

(A) Difference in factor endowments 

(B)  Difference in markets 

(C) Difference political system 

(D) Difference in ideology 

 

 (a) lk/ku&izpqjrk esa varj (b) cktkj esa varj 

 (c) jktuhfrd O;oLFkk esa varj (d) fopkj/kkjk esa varj 
 

38. International trade and domestic trade differ because of 

(A) Trade restrictions   (B) Immobility of factors 

(C) Different government Polices  (D) All of the above 

 

 (a) O;kikj izfrca/k (b) mRifÙk ds lk/kuksa dh xfrghurk 

 (c) fofHkUu ljdkjh uhfr;k¡ (d) mi;qZDr lHkh 
 



 
 

39. Terms of trade of developing countries are generally unfavourable because  

(A) They exports primary goods 

(B) They import value added goods 

(C)  They export few goods 

(D) (A) and (B) of above 

 

 (a) os izkFkfed oLrqvksa dk fu;kZr djrs gSa 

 (b) os ewY; of/kZr OkLrqvksa dk vk;kr djrs gSA 

 (c) os dqN gh oLrqvksa dk fu;kZr djrs gSA 

 (d) (d) Åij ls (a) rFkk (c)  
 

40. Term of trade of a country show  

(A)  Ratio of goods exported and imported 

(B) Ratio of import duties 

(C) Ratio of prices of exports and imports 

(D) (A) and (C) of above 

 

 (a) oLrqvksa ds fu;kZr rFkk vk;kr dk vuqikr 

 (b) vk;kr 'kqYd dk vuqikr 

 (c) fu;kZr rFkk vk;kr dh dherksa dk vuqikr 

 (d) (d) Åij ls (a) rFkk (c)  
 

 

 

 

 

 

 



 
 

41. What would encourage trade between two countries  

(A)  Different tax system  (B) Frontier checks 

(C) National Currencies  (D) Reduced tariffs 

 

 (a) fofHkUu dj iz.kkyh (b) ÝafV;j psd 

 (c) jk"Vªh; eqnzk,¡ (d) VSfjQ dh de njsaA 
 

42. Which of the following does not part of current account under balance of 

payments? 

(A) Export and import of goods 

(B) Export and import of services 

(C) Income receipts and payments 

(D) Capital receipts and payments 

P  

 (a) oLrqvksa dk fu;kZr ,oa vk;kr  

 (b) lsokvksa dk fu;kZr ,oa vk;kr 

 (c) vk; izkfIr rFkk Hkqxrku  

 (d) iw¡th izkfIr rFkk Hkqxrku 
 

 

 

 

 

 

 

 

 

 



 
 

43. Which of the following pairs is not correctly marched with regard to balance of 

payment accounts? 

(A) Import of goods and services – Debit in the current account 

(B) Receipts of transfer payments – Credit in the current account 

(C) Direct investment receipt – Credit in the capital account 

(D) Portfolio investment payments – Debit in the current account 

 

 (a) oLrqvksa ,oa lsokvksa dk vk;kr & pkyw [kkrs esa MsfcV 

 (b) LFkkukarj.k Hkqxrku dh izkfIr & pkyw [kkrs esa tek 

 (c) izR;{k fuos'k izkfIr;k¡ & iw¡th [kkrs esa tek 

 (d) iksVZQksfy;ks fuos'k Hkqxrku & pkyw [kkrs esa MsfcV 
 

44. Which of the following are the components of balance of payment? 

(A) Financial capital transfer 

(B) External loan and investment 

(C) Foreign Institutional investment 

(D) Issuing of external bonds 

(E) Export and imports of goods and services 

 

 (a) foÙkh; iw¡th gLrkaj.k  

 (b) ckgjh _.k vkSj fuos'k 

 (c) ckg~; ckaM tkjh djuk 

 (d) oLrqvksa rFkk lsokvksa dk vk;kr rFkk fu;kZr 
 

 

 

 

 



 
 

45. Trade is not possible if countries operate under 

(A) Absolute cost difference   (B) Equal cost difference 

(B) Comparative cost difference   (D) None of the above 

 

 (a) iw.kZ ykxr varj (b) leku ykxr varj 

 (c) rqyukRed ykxr varj (d) mijksDr esa ls dksbZ ugha 
 

46. Export – import bank of India was establish in? 

(A) 1981  (B) 1982  (C) 1983  (D) 1984 

 

 (a) 1981 (b) 1982 

 (c) 1983 (d) 1984 
 

47. On the basis of the size and composition of external debt, world bank has classified 

India as a  

(A) Heavily indebted country 

(B) Moderate indebted country 

(C) Less indebted country 

(D) Severely indebted country 

 

 (a) Hkkjh _.kh ns'k (b) e/;e _.kh ns'k 

 (c) de _.kh ns'k (d) xaHkhj jwi ls _.kxzLr ns'k 
 

 

 

 

 

 



 
 

48. What would cause a country’s exchange rate to fall :- 

(A) An increased demand for its exports 

(B) An increased demand for its imports 

(C) An increased in flow of capital 

(D) None of the above 

 

 (a) fu;kZr ds fy, c<+h gqbZ ekax (b) vk;kr ds fy, c<+h gqbZ ekax 

 (c) iw¡th ds izokg esa òf) (d) mijksDr esa ls dksbZ ugha 
 

49. Which of the following must always balance? 

(A) Balance of visible trade 

(B) Balance of invisible trade 

(C) Balance of the current balance 

(D) Balance of payments 

 

 (a) ǹ'; O;kikj larqyu (b) vn`'; O;kikj larqyu 

 (c) pkyw [kkrksa dk larqyu (d) Hkqxrku 'ks"k larqyu 
 

 

 

 

 

 

 

 

 

 

 

 

 



 
 

50. A defect in balance of payments can be corrected by  

(A) A reduction in interest rate 

(B) Discouraging capital inflows 

(C) An increase in interest rate 

(D) Restricting remittance 

 

 

 (a) C;kt nj esa deh djds 

 (b) iw¡th izokg dks grksLlkfgr djds 

 (c) C;kt nj esa o`f) djds 

 (d) izs"k.k dks izfrcaf/kr djds 
 

51. Which of the following are the assumption of Hecksher – Ohlin theory  

(A) Demand conditions for both countries are identical 

(B) Demand condition for both countries are not identical 

(C) H – O theory is based on general theory of volume 

(D) H – O theory is based on labour theory of volume 

(E) (1) A and B (2) A and C  

(3) A and D (4) A, B and C 

 

 (a) nksuksa ns'kksa ds fy, ekax dh fLFkfr leku gSA 

 (b) nksuksa ns'kksa ds fy, ekax dh fLFkfr leku ugha gSA 

 (c) gsDlpj&vksgfyu fl)kUr ewY; ds lkekU; fl)kUr ij vk/kkfjr gSA 

 (d) gsDlpj&vksgfyu fl)kUr Je&ewY; fl)kUr ij vk/kkfjr gSA 

 (1) (a) rFkk (b) (2) (a) rFkk (c) 

 (3) (a) rFkk (d) (4) (a), (b) rFkk (c) 
 



 
 

52. In case of fixed exchange rate regime adjustment in balance of payments take 

place through 

(A) Change in price level 

(B) Change in output level 

(C) Change in exchange rate 

(D) Change in interest rate 

 

 (a) ewY; Lrj esa ifjorZu }kjk 

 (b) mRiknu Lrj esa ifjorZu }kjk 

 (c) fofue; nj esa ifjorZu }kjk 

 (d) C;kt nj esa ifjorZu }kjk 
 

53. The theory of relative factor endowments is given by  

(A) Hecksher and Ohlin   (B) F W Taylor 

(C) Ricardo    (D) Adam Smith 

 

 (a) gsDlpj rFkk vksgfyu }kjk (b) ,Q MCY;w Vsyj }kjk 

 (c) fjdkMksZ }kjk (d) ,Me fLeFk }kjk 
 

 

 

 

 

 

 

 

 

 



 
 

54. Modern theory of international trade is based on the view that a country should 

export the commodity 

(A) Production requires nation’s scarce and expensive factors 

(B) Production requires relatively abundant cheap factors 

(C) Any product of its choice 

(D) None of the above 

 

 (a) mRiknu ds fy, jk"Vª dks nqyZHk vkSj egaxs dkjdksa dh vko';drk gksrh gSA 

 (b) mRiknu ds fy, vis{kkÑr izpqj ek=k esa lLrs dkjd dh vko';drk gksrh gSA 

 (c) viuh ilan dk dksbZ Hkh mRiknA 

 (d) buesa ls dksbZ ughaA 
 

55. As per modern theory of international trade, if India have a huge labour force, 

then  

(A) India should export labour intensive goods 

(B) India should import labour intensive goods 

(C) India should import capital intensive goods 

(D)  Both (A) and (C) are correct 

 

 (a) Hkkjr dks Je iz/kku oLrqvksa dk fu;kZr djuk pkfg,A 

 (b) Hkkjr dks Je iz/kku oLrqvksa dk vk;kr djuk pkfg,A 

 (c) Hkkjr dks iw¡th xgu oLrqvksa dk vk;kr djuk pkfg,A 

 (d) (a) rFkk (c) nksuksa lgh gSA 
 

 



 
 

56. International trade theory which provides that capital intensive country should 

export labour intensive goods and import capital goods is referred to as  

(A) Leotief Paradox 

(B) Hecksher – Ohlin theory 

(C) Mercantilism theory 

(D) Theory of comparative advantage 

 

 (a) Y;ksuVhQ (b) fojks/kkHkkl 

 (c) O;kikfjd fl)kUr (d) rqyukRed ykHk fl)kUr 
 

57. The difference between the volume of a nations visible exports and visible imports 

is  

(A) Balance of trade 

(B) Balance of payments 

(C) Balance of current account 

(D) Balance of capital account 

 

 (a) O;kikj larqyu (b) Hkqxrku larqyu 
(c) pkyw [kkrs dk larqyu  (d) iw¡th [kkrs dk larqyu 

58. Deficit budget is linked with  

(A) Deficit in revenue account 

(B) Deficit in capital account 

(C) Both of them 

(D) None of the above 

 

 (a) jktLo [kkrs esa ?kkVk (b) iwath [kkrs esa ?kkVk 

 (c) nksuksa (d) buesa ls dksbZ ugha 



 
 

59. If a country is having more exports then imports is value terms it can be said that 

country is having  

(A) Deficit under balance of payment 

(B) Deficit under balance of trade 

(C) Surplus under balance of trade 

(D) Surplus under balance of payments 

 

 (a) Hkqxrku larqyu ds rgr ?kkVk gks jgk gSA 

 (b) O;kikj larqyu ds rgr ?kkVk gks jgk gSA 

 (c) O;kikj larqyu ds rgr vf/k'ks"k gks jgk gSA 

 (d) Hkqxrku larqyu ds rgr vf/k'ks"k gks jgk gSA 
 

60. Which one of the following is not a current account transaction? 

(A) Exports receivables  

(B) Insurance 

(C) Dividend  

(D) External commercial borrowings 

 

 (a) fu;kZr izkfIr (b) chek 

 (c) ykHkka'k (d) ckg~; okf.kfT;d m/kkj 
 
 
 
 
 
 
 
 
 
 



 
 

B.A. PART - I   PAPER - I    UNIT-III 

1. Economic cost includes explicit cost and? 

(a) Implicit Cost     (b) Social Cost 

(c) Fixed Cost      (d) Money Cost 

 

(a) vLi’V ykxr (b) lkekftd ykxr  

(c) fLFkj ykxr  (d) ekSfæd ykxr 
 

2. Opportunity cost is- 

(a) Direct Cost      (b)Total Cost 

(c) Accounting Cost     (d) Cost of foreign opportunity 

 

(a) izR;{k ykxr  (b) dqy ykxr 

(c) ys[kkadu ykxr (d) iwoZxkeh volj dh ykxr 
 

3. Fixed cost is also known as- 

(a) Supplementary Cost    (b) Overhead Cost 

(c) Indirect Cost     (d) All of these 

 

(a) iwjd ykxr  (b) mijh ykxr 
(c) vizR;{k ykxr    (d) mi;qZDr lHkh 

 

 

 



 
 

4. The cost which varies as the level of output varies are called- 

(a) Variable Cost     (b) Direct Cost 

(c) Prime Cost      (d) All of the above 

 

(a) ifjorZu”khy ykxr (b) izR;{k ykxr 

(c) izeq[k ykxr (d) mi;qZDr lHkh 
 

5. Which one of the following is correct? 

(a) TC=TFC x TVC     (b) TC=TFC=TVC 

(c) TC=TFC+TVC     (d) TC=TFC-TVC 

 

(a) TC = TFC × TVC  (b) TC = TFC = TVC 

(c) TC = TFC + TVC (d) TC = TFC – TVC 
 

6. Wage paid to Laboure’s is an example of- 

(a) Explicit Cost     (b) Implicit Cost 

(c) Opportunity Cost     (d) None of these 

 

(a) Li’V ykxr  (b) vLi’V ykxr 

(c) volj ykxr (d) buesa ls dksbZ ugha 
 

 

 

 



 
 

7. Change production level is zero, then fixed cost is- 

(a) Zero      (b) Negative 

(c) Positive      (d) Equal to variable cost 

 

(a) “kwU;   (b) _.kkRed 

(c) /kukRed  (d) ifjorZu”khy ykxr ds leku 

 
8. Which of the following indicates fixed cost? 

(a) Electricity Bill     (b) Expenses on raw material 

(c) Wages of daily workers    (d) Interest on fixed capital 

 

(a) fctyh fcy  (b) dPps eky dk O;; 

(c) nSfud Jfedksa dh etnwjh   (d) fLFkj iwath ij C;kt 

9. When production is zero, total cost will be- 

(a) Zero      (b) Equal to variable cost 

(c) Equal to fixed cost     (d) Equal to marginal cost  

 

(a) “kwU;   (b) ifjorhZ ykxr ds leku 

(c) fLFkj ykxr ds leku (d) lhekar ykxr ds leku 
 

 

 

 

 



 
 

10. Total Variable Cost (TVC) can be calculated as- 

(a) AVC/Q      (b) TC-TVC  

(c) MC       (d) Both a & c 

 

(a) AVC / Q  (b) TC – TFC 

(c) EMC  (d) (b) vkSj (c) nksuksa 
 

11. Average Fixed Cost (AFC) is indicated by- 

(a) A rectangular hyperbola     (b) A straight line parallel to x-axis 

(c) A straight line parallel to y-axis   (d) A U-shaped curve 

 

(a) ,d vk;rkdkj gkbijcksyk 

(b) X-v{k ds lekukUrj ,d ljy js[kk 

(c) Y-v{k ds lekukUrj ,d ljy js[kk  

(d) ,d U-vkdkj dk oØ 
 

12. When MC curve cuts AC curve 

(a) AC = MC      (b) AC > MC 

(c) AC < MC      (d) Both Ac and MC are falling 

MC AC  

(a) AC = MC  (b) AC > MC 

(c) AC < MC  (d) nksuksa AC vkSj MC fxj jgs gSaA 
 

 

 



 
 

13. As output increase, Average Fixed Cost (AFC) – 

(a) Remains constant     (b) Starts falling 

(c) Strat rising      (d) None 

 

(a) fLFkj jgrk gS (b) fxjuk “kq: gksrk gS 

(c) c<+uk “kq: gks tkrk gS (d) dksbZ ugha 
 

14. A firm average fixed cost is Rs. 20 at 6 units of output. What will it be at 4 units of 
output? 

(a) Rs. 60      (b) Rs. 30 

(c) Rs. 40      (d) Rs. 20 

 

6 20

 

(a) 60 :Œ  (b) 30 :Œ 

(c) 40 :Œ  (d) 20 :Œ 
 

15. U-shaped average cost is based on- 

(a) Law of increasing cost    (b) Law of decreasing cost 

(c) Law of constant return to scale   (d) Law of variable proportions 

U-  

(a) o/kZeku ykxr dk fu;e  

(b) ?kVrs ykxr dk fu;e 

(c) iSekus dk fLFkj izfrQy dk fu;e 

(d) fofo/k vuqikrksa dk fu;e 
 

 

 



 
 

16. When shape of average cost curve is upwards, marginal cost- 

(a) Must be decreasing    (b) Must be constant 

(c) Must be rising     (d) None of these 

 

(a) de gks tkuk pkfg, (b) fLFkj gks tkuk pkfg, 

(c) c<+ tkuk pkfg, (d) buesa ls dksbZ ugha 
 

17. If total cost at 10 units is Rs. 600 and Rs.640 for 11Th unit. The marginal cost of 11th 
unit is- 

(a) Rs. 20      (b) Rs. 30 

(c) Rs. 40      (d) Rs. 50  

10 600 11 640 11

 

(a) 20 :Œ  (b) 30 :Œ 

(c) 40 :Œ  (d) 50 :Œ 
 

18. Per unit cost of a good is called. 

(a) Fixed Cost      (b) Variable Cost 

(c) Average Cost     (d) None of These 

 

(a) fLFkj ykxr  (b) ifjorhZ ykxr 

(c) vkSlr ykxr (d) buesa ls dksbZ ugha 
 

 

 

 

 

 



 
 

19. Marginal Cost of a good includes- 

(a) Only variable cost     (b) Only Fixed Cost 

(c) Both (a) and (b)     (d) None of these 

 

(a) dsoy ijorhZ ykxr (b) dsoy fLFkj ykxr 

(c) nksuksa (a) vkSj (b) (d) buesa ls dksbZ ugha 
 

20. To increases at an increasing rate, when MC is- 

(a) Constant      (b) Increasing 

(c) Decreasing      (d) Negative  

TC  

(a) fLFkj gksrh gS (b) c<+rh gS 

(c) ?kVrh gS  (d) _.kkRed gksrh gS 
 

21. The Average Cost is Rs. 20 and it is minimum when 4 units are produced. The 
marginal cost of producing 4 units is – 

(a) Rs. 20      (b) Rs. 40 

(c) Rs. 24      (d) Rs. 5 

20 4 

4  

(a) 20 :Œ  (b) 40 :Œ 

(c) 24 :Œ  (d) 5 :Œ 
 

 

 

 

 

 



 
 

22. Which of the following is correct? 

(a) MC=TFC x TVC     (b) TC=TFC-TVC 

(c) MC=TC n-2 – TC n-1    (d) TC=TFC=Q 

 

(a) MC = TFC × TVC (b) TC = TFC – TVC 

(c) MC = TCn-2 – TCn-1 (d) TC = TFC = Q 
 

23. Total Cost is the vertical summation of- 

(a) TFC and TVC      (b) TVC and AVC 

(c) AVC and AFC     (d) None of the above 

 

(a) TFC vkSj TVC (b) TVC vkSj AVC 

(c) AVC vkSj AFC (d) mi;qZDr esa ls dksbZ ugha 
 

24. What is the total of all direct costs known as? 

(a) Cost of Production     (b) Cost of Sales 

(c) Prime Cost      (d) Works Cost 

 

(a) mRiknu ykxr (b) fcØh ykxr 

(c) izeq[k ykxr (d) dk;Z ykxr 
 

25. What happens to ATC when MC < ATC? 

(a) ATC will rise     (b) ATC will fall 

(c) ATC will remain constant     (d) None of these 

ATC MC < ATC ? 

(a) ATC c<+sxh  (b) ATC fxjsxh 

(c) ATC fLFkj jgsxh (d) buesa ls dksbZ ugha 



 
 

 

26. Total Revenue is equal to- 

(a) Price x Quantities     (b)Price/Quantities 

(c) Price/ Average Cost    (d) Price/ Total Cost 

= 

(a) dher × mRiknu ek=k (b) dher / mRiknu ek=k 

(c) dher / vkSlr ykxr (d) dher / ykxr 
 

27. Under perfect competitions- 

(a) AR>MR      (b) AR=MR 

(c) AR<MR      (d)AR+MR  

 

(a) AR > MR  (b) AR = MR 

(c) AR < MR  (d) AR + MR 
 

28. --------- revenue is the revenue obtained from selling additional unit of product.  

(a) Total      (b) Marginal 

(c) Average      (d) Incremental 

……………  

(a) dqy   (b) lhekar 

(c) vkSlr  (d) o`f) lEcU/kh 
 

 

 

 

 

 

 



 
 

29. Average revenue is equal to the --------- per unit of output. 

(a) Marginal Revenue     (b) Price 

(c) Cost      (d) Incremental Income 

……….. 

(a) lhekar vkxe (b) dher 

(c) ykxr  (d) o`f)”khy vk; 
 

30. Under-------- -- Price=AR=MR. 

(a) Perfect Competition    (b) Oligopoly 

(c) Monopoly      (d) Imperfect Competition 

…………. = AR = MR 

(a) iw.kZ izfr;ksfxrk (b) vYikf/kdkj 

(c) ,dkf/kdkj  (d) viw.kZ izfr;ksfxrk 
 

31. Under Monopoly competitions 

(a) AR>MR      (b) AR=MR 

(c) AR<MR      (d) AR+MR 

…………… 

(a) AR > MR  (b) AR = MR 

(c) AR < MR  (d) AR + MR 
 

32. Average Revenue is equal to- 

(a) Marginal Revenue/ Output    (b) Total revenue/Price 

(c) Total Revenue/Output    (d) Marginal Revenue/Price 

= 

(a) lhekar vkxe / mRiknu (b) dqy vkxe / dher 

(c) dqy vkxe / mRiknu (d) lhekar vkxe / dher 



 
 

 

33. Under Monopoly- 

(a) AR curve is below AR    (b) MR curve is above AR curve 

(c) MR and AR curves are the same   (d) None of the above 

……………. 

(a) MR oØ AR oØ ds uhps gksrh gS 

(b) MR oØ AR oØ ds Åij gksrh gS 

(c) MR vkSj AR oØ ,d leku gksrs gS 

(d) mi;qZDr esa ls dksbZ ugha 
 

34. Average Revenue-----------. 

(a) can be negative     (b) is zero where TR is zero 

(c) can not be negative    (d) both (b) and (c) 

 …………….. 

(a) _.kkRed gks ldrh gS (b) “kwU; gksrh gS tc TR “kwU; gksrh gS 

(c) _.kkRed ugha gks ldrh gS (d) nksuksa (b) vkSj (c) 
 

35.When TR increases at constant rate, MR should be --------. 

(a) Increasing      (b) Constant 

(c) Decreasing      (d) Zero 

TR MR  

(a) c<+rk gqvk  (b) fLFkj 

(c) ?kVrk gqvk  (d) “kwU; 
 

 

 

 



 
 

36. When MR is zero then, ------------. 

(a) TR is minimum     (b)TR is equal to MR 

(c) TR maximum     (d) TR is zero 

MR  

(a) TR U;wure gksrk gS (b) TR, MR ds leku gksrk gS 

(c) TR vf/kdre gksrk gS (d) TR “kwU; gksrk gS 
 

37. When seller sells 50 units at Rs. 20 each then his total revenue is-------. 

(a) Rs. 1000      (b) Rs. 900 

(c) Rs. 1200      (d) Rs. 700 

20 50  

(a) 1000 :Œ  (b) 900 :Œ 

(c) 1200 :Œ  (d) 700 :Œ 
 

38. The slope of the TC curve is insured by --------.  

(a) Average Cost     (b) Real Cost 

(c) Opportunity Cost     (d) Marginal Cost 

TC  

(a) vkSlr ykxr (b) okLrfod ykxr 

(c) volj ykxr (d) lhekar ykxr 
 

39. The Total Revenue Curve of a firm in perfect competition is a straight line because 
of --------. 

(a) Inverse price demand relationship   (b) Constant price 

(c) The law of variable proportions   (d) Law of returns to scale 

 

(a) dher ek¡x dk foijhr lEcU/k (b) fLFkj dher 



 
 

(c) fofo/k vuqikrksa dk fu;e (d) izfrQy ds iSekus dk fu;e 
 

40. The minimal income which is the entrepreneur must get in order to stay in business 
is ------. 

(a) Maximum Profit     (b) Normal Profit 

(c) Subnormal Profit     (d) Supernormal Profit 

 

(a) vf/kdre ykHk (b) lkekU; ykHk 

(c) volkekU; ykHk (d) vf/klkekU; ykHk 
 

41.A firm is producing output at which profit is maximized. If it produces more output, 
then --------. 

(a) MC will be exceeded    (b) MR will be zero 

(c) It is subject to profit constants   (d) MC will be zero 

 

(a) MC, MR ls vf/kd gksxk (b) MR “kwU; gksxk 

(c) ;g ykHk dh ck/kkvksa ds v/khu gS (d) MC “kwU; gksxk 
 

42. A firm is breakeven point when--------. 

(a) TR>TC      (b) TR=TC 

(c) TR<TC      (d) None of the above 

 

(a) TR > TC  (b) TR = TC 

(c) TR < TC  (d) mi;qZDr esa ls dksbZ ugha 
 

 

 

 



 
 

43. A firm earns supernormal profit when it--------. 

(a) TR=TC      (b) TR<TC 

(c) TR>TC      (d) None of the above 

……….. 

(a) TR = TC  (b) TR < TC 

(c) TR > TC  (d) mi;qZDr esa ls dksbZ ugha  
 

44. --------- cost is also known as next best alternative. 

(a) Opportunity Cost     (b) Private Cost 

(c) Real Cost      (d) Monetary Cost 

……………  

(a) volj ykxr (b) futh ykxr 

(c) okLrfod ykxr (d) ekSfnzd ykxr 
 

 

45. Long run cost curve also known as  

(a) Envelop Curve     (b) Downward Curve 

(c) Upward Curve     (d) Vertical Curve 

 

(a) fyQkQk oØ  (b) uhps dh vksj oØ 

(c) Åij dh vksj oØ (d) yEcor~ oØ 
 

 

 

 

 

 

 



 
 

46. -------- is a period long enough to change all cost. 

(a) Long run      (b) Short run 

(c) Both (a) and (b)     (d) None of these 

…………,  

(a) nh?kZdkyhu  (b) vYidkyhu 

(c) nksuksa (a) vkSj (b) (d) buesa ls dksbZ ugha 
 

47. Average cost curve is ---------- shaped. 

(a) U    (b)  L 

(c) B    (d)  V 

…………  

(a) U   (b) L 

(c) B    (d) V 
 

48. Total variable cost include 

(a) Raw material     (b) Cost of direct labour 

(c) Fuel carriage     (d) All of the above 

 

(a) dPpk eky  (b) izR;{k Je dh ykxr 

(c) bZa/ku  (d) mi;qZDr lHkh 
 

49. The perfect competition equilibrium is attained when -----------. 

(a) AR=AC      (b) TR=TC 

(c) MR=MC      (d) Q=P 

 

(a) AR = AC  (b) TR = TC 

(c) MR = MC  (d) G = P 



 
 

 

50. As the volume of output will increase the distance between AVC and AC – 

(a) Will grow      (b) Will decrease 

(c) Will remain constant    (d) Both will remain parallel 

AVC AC ………… 

(a) c<+sxh  (b) ?kVsxh 

(c) fLFkj jgsxh  (d) nksuksa lekUrj gksxh 
 

  

 

 

 

 

 

 

 

 

 

 

 

 

  

 



 
 

B.A. PART-I   PAPER-I    UNIT-IV 
01. Short run production function shows the function relation between -------------. 

(a) Cost and revenue     (b) Materials and matters 

(c) Inputs and outputs     (d) Functions and equations 

……………. 

 

(a) ykxr vkSj vkxe (b) lkexzh vkSj inkFkZ  

(c) vkxe vkSj fuxZr (d) Qyu vkSj lehdj.k 
 

02. In the ---------- all factors or inputs becomes variable and no inputs is fixed. 

(a) Short run       (b) Long run 

(c) Law of variable proportions    (d) Law of diminishing marginal returns 

………………. 

 

(a) vYidky  (b) nh?kZdky 

(c) fofo/k vuqikrksa dk fu;e (d) ?kVrs lhekar izfrQy dk fu;e 
 

03. The law of variable proportions is also called as ---------. 

(a) Law of diminishing marginal returns  (b) Law of increasing marginal returns 

(c) Law of returns     (d) Law of proportional returns 

 

(a) ?kVrs lhekar izfrQy dk fu;e (b) c<+rs lhekar izfrQy dk fu;e 

(c) iSekus ds izfrQy dk fu;e (d) vkuqikfrd izfrQy dk fu;e 
 

 

 

 



 
 

04. In ----------- phase of the laws of returns to scale, TP rises at an increasing rate, also 
MP and AP are rising- 

(a) Increasing       (b) Decreasing 

(c) Constant      (d) None of them 

…………….. 

(a) c<+rs gS  (b) ?kVrs gS 

(c) fLFkj jgrs gS (d) buesa ls dksbZ ugha 
 

05. In------- phase of the law of returns to scale, TP rises as decreasing rate because MP 
starts diminishing, but AP rises- 

(a) Increasing returns     (b) Decreasing returns 

(c) Constant returns     (d) None of them 

……………… TP MP 

AP  

(a) c<+rs izfrQy (b) ?kVrs izfrQy 

(c) fLFkj izfrQy (d) buesa ls dksbZ ugha 
 

06. The law of variable proportions depends on the assumption--------------. 

(a) Heterogeneity of factor    (b) Homogeneity of Factor 

(c) Changing technology    (d) Varied type of goods 

………………  

(a) fo’ke dkjd  (b) le:i dkjd 

(c) ifjorZu”khy rduhd (d) fofHkUu izdkj ds lkeku 
 

 

 

 

 

 



 
 

07. In this phase or the law of returns to scale, TP and MP are falling. MP is negative- 

(a) Increasing returns     (b) Decreasing returns 

(c) Constant returns     (d) Negative returns 

TP MP MP 

 

(a) c<+rs izfrQy (b) ?kVrs izfrQy 

(c) fLFkj izfrQy (d) _.kkRed izfrQy 
 

08. Iso-quant curve measures the- 

(a) Marginal rate of technical substitution 

(b) Marginal rate of substitution between two goods 

(c) Marginal utility of money   

(d) Marginal efficiency of capital 

 

(a) Je vkSj iw¡th ds chp rduhdh izfrLFkkiu dh lhekar nj 

(b) nks oLrqvksa ds chp izfrLFkkiu dh lhekar nj 

(c) eqnzk dh lhekar mi;ksfxrk 

(d) iw¡th dh lhekar {kerk 
 

09. Iso-quant is always ----------- sloping. 

(a) Downward      (b) Upward 

(c) Concave      (d) Positive 

………………  

(a) mUeq[k] uhps dh vksj (b) m/oZxkeh] Åij dh vksj 

(c) urksnj  (d) /kukRed 
 

 



 
 

10. Iso-quant curve are ------ to each other. 

(a) Opposite       (b) Not parallel 

(c) Parallel      (d) Tangent 

………………  

(a) foijhr  (b) lekarj ugha 

(c) lekarj  (d) Li”kZT;k 
 

11. Two Iso-quant curve -------intersect each other. 

(a) Never       (b) Always 

(c) Sometimes      (d) None of them  

………………  

(a) dHkh ugha  (b) ges”kk 

(c) dHkh&dHkh  (d) buesa ls dksbZ ugha 
 

12. Marginal rate of technical substitution is the ------------- of an Iso-quant curve. 

(a) Slope      (b) Function 

(c) Curve      (d) Price 

………………  

(a) <+ky   (b) dk;Z 

(c) oØ   (d) dher 
 

 

 

 

 

 

 



 
 

13. ----------- are the lines derived by joining the points on the isoquants when marginal 
product of factors is zero. 

(a) Iso-quant line     (b) Price lines 

(c) Ridge line      (d) None of them 

……………… 

 

(a) leykxr js[kk,¡ (b) dher js[kk,¡ 

(c) fjt js[kk,¡  (d) buesa ls dksbZ ugha 
 

14. That portion of the Iso-quant curve lying between the ridge lines- 

(a) Harmful to producers    (b) Beneficial to producers 

(c) Gives only normal profit to producer  (d) All of the above condition possible 

 

(a) mRiknd ds fy, gkfudkjd gS  

(b) mRiknd ds fy, ykHkizn gS 

(c) mRiknd dks dsoy lkekU; ykHk nsrk gS 

(d) mi;qZDr lHkh fLFkfr;k¡ laHkoA 
 

15. Iso-quant curve is based on which assumption- 

(a) There are two factors of production. 

(b) The conditions of production technology are constant 

(c) Factors of production can be divided into smaller unit 

(d) All of the above 

 

(a) mRiknu ds nks lk/ku gS 

(b) mRiknu dh rduhdh n”kk fLFkj gS 

(c) mRifÙk ds lk/ku NksVh&NksVh bdkb;ksa esa ck¡Vs tk ldrs gS 

(d) mi;qZDr lHkh 



 
 

 

16. ------------ is called the optimal combination or factor inputs or producers’ 
equilibrium. 

(a) Least cost factor combination 

(b) List of cost and factors 

(c) Linear cost function    

(d) Law of variable proportions 

………………  

(a) U;wure ykxr lk/ku la;kstu (b) ykxr vkSj lk/kuksa dh lwph 

(c) js[kh; ykxr Qyu (d) fofo/k vuqikrksa dk fu;e 

 
17. ---------------  iso-quant assumed zero substitutability of factors of production. 

(a) Left side     (b) Right side 

(c) Downward     (d) Concave 

……………… IQ  

(a) ok;kdkj  (b) ledks.kh; 

(c) mUeq[k] uhps dh vksj (d) vory  
 

18. According to IQ analysis, the firm maximizes its profit, which the ----------- is equal 
to the price ratio of labour and capital. 

() MRTS of labour and capital    () MRTS of land and labour 

() MRTS of all factor     () MRTS of two goods 

IQ ……………… 

 

(a) Je vkSj iw¡th dk MRTS (b) Hkwfe vkSj Je dk MRTS  

(c) lHkh lk/kuksa dk MRTS (d) nks oLrqvksa dk MRTS 
 

 



 
 

19. ------------- show all the possible combinations of labour and capital that can produce 
different level of production. 

() Demand schedule     () Supply schedule 

() Iso-quant map     () Ridge line 

……………… 

 

(a) ek¡x vuqlwph (b) iwfrZ vuqlwph 

(c) leek=k ekufp= (d) fjt js[kk,¡ 
 

20. ---------------- shows the overall output generated at a given level of input: 

() Cost function     () Production function 

() Iso-cost      () Marginal rate of technical substitution 

………………  

(a) ykxr Qyu  (b) mRiknu Qyu 

(c) le&ykxr  (d) rduhdh LFkkiu dh lhekar nj 
 

21. Increasing returns to scale can be explained in term of:- 

() External and internal economies   () External and internal diseconomies 

() External economies and internal diseconomies () All of these 

………………  

(a) ckg~; vkSj vkarfjd cprsa (b) ckg~; vkSj vkarfjd vcprsa 

(c) ckg~; cprsa vkSj vkarfjd vcprsa (d) buesa ls lHkh 
 

 

 

 

 

 



 
 

22. An isoquant is ----------- to an iso-c0st line at equilibrium point. 

() Convex      () Concave 

() Tangent      () Perpendicular 

………………  

(a) mÙky  (b) vory 

(c) Li”kZT;k  (d) yEcor~ 
 

23. Diminishing marginal returns implies:- 

() Decreasing average variable cost   () Decreasing marginal cost 

() Increasing marginal cost    () Decreasing average fixed cost 

 

(a) gkleku vkSlr ifjorhZ ykxr (b) gkleku lhekar ykxr 

(c) o/kZeku lhekar ykxr (d) gkleku vkSlr fLFkj ykxr 
 

24. law of variable proportion is valid when: 

(a) Only one input is variable and all other inputs are kept constant     

(b) All factors are kept constant 

(c) All inputs are varied in the same proportion      

(d) None of these 

 

(a) tc dsoy ,d vkxe ifjorhZ gksrk gS vkSj nwljs lHkh lHkh vkxe fLFkj j[ks tkrs gSA 

(b) lHkh lk/ku fLFkj j[ks tkrs gSA 

(c) lHkh vkxe dk ,d leku vuqikr esa cnys tkrs gS 

(d) buesa ls dksbZ ugha 
 

 

 



 
 

25. Which is the factor of production? 

(a) Land     (b) Labour 

(c) Capital      (d) All of these 

 

(a) Hkwfe   (b) Je 

(c) iw¡th  (d) buesa ls lHkh 
 

26. Which not a correct assumption for the law of variable proportions? 

(a) Only one factor is variable while others are held constant     

(b) There is no change in technology 

(c) Its assumption a long run situation      

(d) It is possible to vary the proportion in which different inputs are combined 

 

(a) ,d ,d lk/ku ifjorZu”khy gksrk gS tcfd vU; fLFkj j[ks tkrs gSA 

(b) rduhdh esa dksbZ ifjorZu ughaA 

(c) ;g nh?kZdky esa gksrk gS 

(d) fHkUu&fHkUu vkxe dks feykdj ml vuqikr esa ifjorZu djuk laHko gSA 
 

27. Which is the best stage of production in the law of variable proportions? 

(a) Increasing returns     (b) Decreasing returns 

(c) Positive marginal returns    (d) Negative marginal returns 

 

(a) c<+rs izfrQy (b) ?kVrs izfrQy 

(c) /kukRed lhekar izfrQy (d) lhekar izfrQy 
 

 

 



 
 

28. The law of diminishing returns was first used by an economist. 

(a) Marshall      (b) Adam Smith 

(c) Turgot      (d) Hicks 

 

(a) ek”kZy  (b) ,Me fLeFk 

(c) VxZV  (d) fgDl 
 

29. Who is the author of the book “ Principles of Economics” 

(a) Stigler     (b) Bentham 

(c) Joan Robinson    (d) Mashal 

“Principles of Economics”  

(a) fLVxyj  (b) csUge 

(c) Jherh tkWu jkfcUlu (d) ek”kZy 

 
30. Division of labour and specialization generates – 

(a) Internal saving     (b) External saving 

(c) Both (a) and (b)     (d) None of the above 

 

(a) vkarfjd cpr (b) ckg~; cpr 

(c) vkarfjd vkSj ckg~; nksuksa cprsa (d) mi;qZDr esa ls dksbZ ugha 
 

 

 

 

 

 

 



 
 

31. In law of increasing returns- 

(a) MC< AC     (b) MC > AC 

(c) MC = AC     (d) MC x AC 

 

(a) MC < AC  (b) MC > AC 

(c) MC = AC  (d) MC × AC 
 

32. In law of increasing returns all the firms of an industry derive profit- 

(a) Equally     (b) Unequally 

(c) Depend on management of firm  (d) None of them 

 

(a) leku :Ik ls (b) vleku :i ls 

(c) QeZ ds izca/k ij fuHkZj djrh gS (d) mi;qZDr esa ls dksbZ ugha 
 

33. The principle which explain the economies of various factors of production. 

(a) Law of increasing returns   (b) Law of diminishing returns 

(c) Law of constant returns   (d) None of above 

 

(a) mRifÙk of̀) fu;e (b) mRifÙk g~kl fu;e 

(c) mRifÙk lerk fu;e (d) mi;qZDr esa ls dksbZ ugha 
 

 

 

 

 

 

 



 
 

34. Ancient economist used the law of diminishing returns only in agriculture sector 
where as modern economist use it for following sector – 

(a) Service sector     (b) Industrial sector 

(c) Mining and mineral sector    (d) All producing area 

 

(a) lsok {ks=  (b) m/kksx {ks= 

(c) [kuu ,oa [kfut {ks= (d) lHkh mRiknu {ks= 
 

35. Which pair is correct for Cobb-Douglas production function Q=k𝑳𝒂𝑪𝒃 ? 

(a) 0<a<1 and b=1-a     (b) 0>a>1 and a=1-b 

(c) 0<a<1 b-a=1     (d) 0>a>1 and a+b=1 

कौन सी जोड़ी कॉब-डगलस Q = KLaCb फलन के िलए सही ह?ै 

(a) 0 < a < 1 rFkk b = 1 - a (b) 0 > a > 1 rFkk a = 1 - b 

(c) 0 < a < 1 rFkk b – a  =  (d) 0 > a > 1 rFkk a + b = 1 
 

36. Law of production does not include- 

(a) Returns to scale      (b) Law of diminishing return to a factor 

(c) Law of variable proportions    (d) Least cost combination of factor 

 

(a) iSekus dk izfrQy (b) lk/ku ds ?kVrs izfrQy dk fu;e 

(c) ifjorZu”khy vuqikrksa dk fu;e (d) dkjd dk U;wure ykxr la;kstu 
 

 

 

 

 

 

 



 
 

37. Which is not the correct stage of production in the law of returns to scale? 

(a) Increasing returns      (b) Constant returns 

(c) Diminishing returns    (d) No returns 

 

(a) c<+rk izfrQy (b) ?kVrk izfrQy 

(c) fLFkj izfrQy (d) dksbZ izfrQy ugha 
 

38. When all the productive services are increased in given proportion, the product is 
increased in the same proportion. This situation is called- 

(a) law of increasing returns     (b) Situations of constant returns 

(c) Fixed cost       (d) Variable cost 

 

(a) c<+rs izfrQy dh voLFkk (b) fLFkj izfrQy dh voLFkk 

(c) fLFkj ykxr  (d) ifjorZu”khy ykxr 
 

39. The “law of variable proportion is” first explained by 

(a) Edward West     (b) Mashall 

(c) Vevlen      (d) Keynes 

 

(a) ,MoMZ osLV  (b) ek”kZy 

(c) oscyksu  (d) dhUl 
 

 

 

 

 

 



 
 

40. Iso-cost line indicate the price of ------------- 

(a) Output     (b) Inputs 

(c) Finished goods    (d) Raw materials 

 

(a) mRiknu  (b) vkxe 

(c) vafre lkeku ;k rS;kj lkeku (d) dPpk eky 
 

41. ------------ product will never be zero or negative. 

(a) Marginal    (b) Exceptional 

(c) Average    (d) All of the above 

 

(a) lhekar  (b) vlkekU; 

(c) vkSlr  (d) mi;qZDr lHkh 
 

42. A graph indicating different combination of inputs with different level of output is 
called --------------. 

(a) Iso-cost map     (b) BEP map 

(c) Input-output map     (d) Iso-quant map 

 

(a) leykxr ekufp= (b) BEP ekufp= 

(c) vkxr&fuxZr ekufp= (d) le&ek=k ekufp= 
 

 

 

 

 

 



 
 

43. Which is not properties of iso-quant? 

(a) Downward sloping    (b) Convex 

(c) Negative slop     (d) Positive slope 

 

(a) uhps dh vksj <+yku (b) mUurksnj 

(c) _.kkRed <+ky (d) /kukRed <+ky 
 

44. Which of the following is not a variable input? 

(a) Raw material    (b) Power 

(c) Equipment    (d) None of these 

 

(a) dPpk eky  (b) fctyh 

(c) midj.k  (d) buesa ls dksbZ ughaA 

 

45. Which of the following is a short run law? 

(a) Law of constant returns to scale 

(b) Law of increasing returns to scale 

(c) Law of diminishing returns  

(d) None of these 

 

(a) fLFkj iSekus ds izfrQy dk fu;e  

(b) c<+rs iSekus ds izfrQy dk fu;e 

(c) ?kVrs izfrQy dk fu;e  

(d) buesa ls dksbZ ugha 



 
 

 

46. In the long run all inputs become ____________ 

(a) Fixed  (b) Variable 

(c) Semi-variable (d) None of these 

 

(a) fLFkj  (b) ifjorhZ 

(c) v)Z&ifjorhZ (d) buesa ls dksbZ ugha 

 

47. Who classified economies of scale into internal and external? 

(a) Robinson  (b) Marshall 

(c) Edward west (d) Pigue 

 

(a) jkfcUlu  (b) ek”kZy 

(c) ,MoMZ osLV  (d) ihxw 

48. Related to production function, MRTS stand for 

(a) Marginal revenue and total sales 

(b) Minimum revenue from total sales 

(c) Marginal rate of total supply 

(d) Marginal rate of technical substitution 

MRTS …………  

(a) lhekar vk; vkSj dqy fcØh (b) dqy fcØh ls izkIr U;wure vk; 

(c) dqy iwfrZ dh lhekar nj (d) rduhdh izfrLFkkiu dh lhekar ij 



 
 

 

49. __________ of scale also refer to the saving made in term of cost of producing each 

unit of production as a result of increasing 

(a) Economies  (b) Diseconomies 

(c) Economics  (d) Macroeconomics 

 

(a) cprsa  (b) vcprsa 

(c) vFkZ”kkL=  (d) lef’V vFkZ”kkL= 

50. In the short run, when the output of a firm increase, its average fixed cost will 

(a) Remain constant (b) Decrease 

(c) Increase  (d) First increase and then rise 

 

(a) fLFkj jgrh gS (b) ?kV tkrh gS 

(c) c<+ tkrh gS  (d) igys ?kVrk gS vkSj rc c<+rk gSA 

 
 

 
 



 
 

B.A Part I Paper I Unit 5 

1. Which of the following is not an essential condition of pure competition? 

(a) Large number of buyers and sellers 

(b) Homogeneous product 

(c) Freedom of entry 

(d) Absence of transport cost 

 

(a) Øsrkvksa rFkk fcØsrkvksa dh cM+h la[;k 

(b) le:i oLrq 

(c) izos”k dh Lora=k  

(d) ifjogu ykxr dk vHkko 

2. Under which of the following forms of market structure does a firm has no control       

over the price of its product: 

(a) Monopoly   (b) Oligopoly 

(c) Monopolistic competition  (d) Perfect competition 

 

(a) ,dkf/kdkj  (b) vYikf/kdkj 

(c) ,dkf/kdkjkRed izfr;ksfxrk (d) iw.kZ izfr;ksfxrk 

 

 

 



 
 

3. Given the relation MR = Pቀ𝟏 −
𝟏

𝒆
ቁ if e > 1 then: 

 (a) MR > 0   (b) MR < 0 

 (c) MR = 0   (d) None of the above 

  MR = Pቀ𝟏 −
𝟏

𝒆
ቁ e > 1  

(a) MR > 0  (b) MR < 0 

(c) MR = 0  (d) buesa ls dksbZ ugha 

 
4. Profit of firm will be more at: 

 (a) MR = MC 

 (b) Additional revenue from extra unit equals its additional cost 

 (c) Both of above   

 (d) None of these 

 

(a) MR = MC  

(b) vfrfjDr bdkbZ ls izkIr vfrfjDr jktLo bldh vfrfjDr ykxr ds cjkcj gksus ij 

(c) mi;qZDr nksuksa 

(d) buesa ls dksbZ ugha 

5. In perfect competition a firm maximizes profit by_______ 

(a) Setting price such that price is equal to or greater than its marginal costs 

(b) Setting output such that price equals average total costs 

(c) Setting output such that price equals marginal costs 

(d) Setting price so that it is greater than marginal cost 



 
 

 

(a) mRiknu dks bl rjg ls LFkkfir djuk rkfd dher lhekar ykxr ds cjkcj ;k mlls vf/kd gks             

tk, 

(b) mRiknu dks bl rjg ls LFkkfir djuk rkfd dher vkSlr dqy ykxr ds cjkcj gks tk, 

(c) mRiknu dks bl rjg ls LFkkfir djuk rkfd dher lhekar ykxr ds cjkcj gks tk, 

(d) ewY; dks bl rjg ls LFkkfir djuk rkfd ;g lhekar ykxr esa vf/kd gks tk, 

6. Match the characteristic with their market structure 

(A)  Differentiated products but close substitutes for consumers so their demand curves are   

elastic 

(B)  Homogeneous product, all goods are perfect substitutes for consumers 

Option -  

(a) (A) Monopolistic Competition  (B) Pure competition 

(b) (A) Monopolistic Competition  (B) Pure Monopoly 

(c) (A) Pure Competition  (B) Monopolistic competition 

(d) (A) Pure Monopoly  (B) Pure competition 

 

(a) foHksfnr mRikn] ysfdu miHkksDrkvksa ds ,d djhch fodYi blfy, budh ekax dh oØ ykspnkj gS 

(b) ltkrh; mRikn] lkjk lkkeku miHkksDrkvksa ds fy, ,d lgh fodYi gSA 

(d½ (a) ,dkf/kdkjkRed izfr;ksfxrk  (b) fo”kq) izfr;ksfxrk 

¼[k½ (a) ,dkf/kdkjkRed izfr;ksfxrk  (b) fo”kq) ,dkf/kdkj 

¼x½  (a) fo”kq) izfr;ksfxrk (b) ,dkf/kdkjkRed izfr;ksfxrk 

¼?k½    (a) fo”kq) ,dkf/kdkj (b) fo”kq) izfr;ksfxrk 



 
 

7. The demand curve facing a perfectly competitive firm is 

(a) Downward sloping  (b) Perfectly inelastic 

(c) A concave curve  (d) Perfectly elastic 

 

(a) uhps dh vksj >qdk gqvk (b) iwjh rjg fLFkj 

(c) ,d vory oØ (d) iwjh rjg ls ykspnkj 

8. What should firm do when Marginal Revenue is greater than Marginal Cost? 

(a) Firm should expand cost 

(b) Effect should be made to make them 

(c) Prices should be covered down 

(d) All of these 

 

(a) QeZ dks mRiknu dk foLrkj djuk pkfg, 

(b) mUgsa lkeku cukus ds fy, izHkko Mkyk tkuk pkfg, 

(c) dherksa dks doj fd;k tkuk pkfg, 

(d) mi;qZDr lHkh 

 

9. Under monopoly price discrimination depends upon: 

(a) Elasticity of demand for commodity 

(b) Elasticity of supply for commodity 

(c) Size of market 

(d) All of the above 



 
 

 

(a) oLrq ds ekax dh yksp (b) oLrq ds fy, vkiwfrZ dh yksp 

(c) cktkj ds vkdkj (d) mi;qZDr lHkh 

10. Monopolist can determine: 

(a) Price  (b) Output 

(c) Either price or output (d) None of the above 

 

(a) dher  (b) mRiknu 

(c) dher vFkok mRiknu (d) buesa ls dksbZ ugha 

11. Which of the following is not the feature of an imperfect competition? 

(a) Large number of buyers (b) single seller 

(c) Homogeneous products (d) Price maker 

 

(a) Øsrkvksa dh vf/kd la[;k (b) vdsyk fcØsrk 

(c) le:Ik mRikn (d) ewY; fu/kkZjd 

12. Under monopoly the slope of AR curve is:- 

(a) Upward sloping (b) Downward sloping 

(c) Horizontal  (d) None of these 

AR  

(a) Åij dh vksj >qdk gqvk (b) uhps dh vksj >qdk gqvk 

(c) {kSfrt (d) buesa ls dksbZ ugha 

 



 
 

13. Marginal Revenue is equal to price for which of the following types of market 

structure? 

(a) Perfect Competition (b) Monopolistic Competition 

(c) Monopoly  (d) Oligopoly 

 

(a) iw.kZ izfr;ksfxrk (b) ,dkf/kdkjkRed izfr;ksfxrk 

(c) ,dkf/kdkj  (d) vYikf/kdkj 

14. Which of the following industry is most to be monopolistically competitive? 

(a) The car repair industry (b) The electrical generating industry 

(c) The automobile industry (d) None of the above 

 

(a) dkj ejEer m/kksx (b) fo/kqr mRikn m/kksx 

(c) vkWVkseksckby m/kksx (d) buesa ls dksbZ ugha 

15. The demand curve faced by a Monopolistically Competitive firm is ______ 

(a) Elastic  (b) Unit elastic 

(c) Perfectly elastic (d) Inelastic 

 

(a) ykspnkj  (b) bdkbZ ykspnkj 

(c) iw.kZ ykspnkj (d) csykspnkj 

 

 

 



 
 

16. Which of the following is a characteristic of Monopolistic competition? 

(a) Easy into and exit entry from the industry 

(b) Product differentiation 

(c) Few sellers 

(d) All of the above 

 

(a) QeZ ds izos”k rFkk fudkl dh Lora=rk 

(b) oLrq foHksnhdj.k 

(c) dqN foØsrk 

(d) mi;qZDr lHkh 

17. Monopoly Market is: 

(a) Single seller Market (b) Single buyer market 

(c) Single buyer and seller (d) None of the above 

 

(a) ,dy foØsrk cktkj (b) ,dy [kjhnnkj cktkj 

(c) ,dy Øsrk rFkk foØsrk (d) buesa ls dksbZ ugha 

18. Monopolist maximizes profit at the point where 

(a) MC = AC  (b) MC = MR 

(c) AC = AR  (d) MR = AR 

 

(a) MC =AC  (b) MC = MR 

(c) AC = AR  (d) MR = AR 



 
 

19. At the point of equilibrium of a Monopolist MC cuts MR curve 

(a) From below (b) From above 

(c) At the point of equality of AR and MR (d) None of the above 

MC, MR  

(a) uhps ls  

(b) Åij ls 

(c) AR rFkk MR ds lekurk ds fcanq ij 

(d) buesa ls dksbZ ugha 

20. A Multiplant Monopolist maximizes his profit at the point where – 

(a) MR = MC1  (b) MR = MC2 

(c) MR1 = MR2 (d) MR = MC1 = MC2 

 

(a) MR = MC1  (b) MR = MC2 

(c) MR1 = MR2 (d) MR = MC1 = MC2 

21. For a firm with monopoly power 

(a) Price equal to MC (b) Price is less than MC 

(c) Price exceeds to MC (d) None of the above 

 

(a) dher lhekar ykxr ds cjkcj gksrh gS 

(b) dher lhekar ykxr ls de gksrh gS 

(c) dher lhekar ykxr ls vf/kd gksrh gS 

(d) buesa ls dksbZ ugha 



 
 

22. In the Long run, which of the following is applicable to a firm under Monopolistic 

competition 

(a) AR = AC  (b) AR > AC 

(c) AR < AC  (d) AR = MC 

 

(a) AR = AC  (b) AR > AC 

(c) AR < AC  (d) AR = MC 
23. Selling cost is a feature of  

(a) Monopolistic Competition    (b) Perfect Competition 

(c) Monopoly      (d) Bilateral Monopoly 

 

(a) ,dkf/kdkjkRed izfr;ksfxrk (b) iw.kZ izfr;ksfxrk 

(c) ,dkf/kdkj (d) tSfod ,dkf/kdkj 
 

24. In the short run, a monopolistic competitive firm can have 

(a) Abnormal profit     (b) Lose 

(c) Normal profit     (d) None of the above 

 

(a) vlkekU; ykHk (b) gkfu 

(c) lkekU; ykHk (d) buesa ls dksbZ ugha 
 

 

 

 

 

 

 



 
 

25. Which of the following is not a feature of monopolistic competition? 

(a) Homogeneous product    (b) Large number of firms 

(c) Freedom of entry and quit    (d) Differentiated product 

 

(a) le:Ik mRikn (b) QeksZa dh vf/kd la[;k 

(c) izos”k ,oa fudkl dh Lora=rk (d) oLrq foHksnhdj.k 
 

26. Demand curve of a firm under monopolistic competition is- 

(a) Parallel to x-axis     (b) Parallel to y-axis 

(c) Downward slopping    (d) Upward sloping 

 

(a) X-v{k ds lekukarj (b) Y-v{k ds lekukarj 

(c) uhps dh vksj >qdk gqvk (d) Åij dh vksj >qdk gqvk 
 

27. The condition of short run equilibrium under monopolistic competition is- 

(a) MC=MR      (b) AC=MR 

(c) AR=AC      (d) AR=MR 

 

(a) MC MR  (b) AC = MR 

(c) AR = AC  (d) AR = MR 
 

 

 

 

 

 

 



 
 

28. The market structure which have large number of sellers selling differentiated 
product is called- 

(a) Perfect competition    (b) Monopoly 

(c) Monopolistic competition    (d) Oligopoly 

 

(a) iw.kZ izfr;ksfxrk (b) ,dkf/kdkj 

(c) ,dkf/kdkjkRed izfr;ksfxrk (d) vYikf/kdkj 
 

29. The condition of short run equilibrium under perfect competition is- 

(a) MC=MR      (b) MC cut MR from below 

(c) MC is rising when it cuts AR   (d) All of the above 

 

(a) MC = MR  

(b) MC, MR dks dkVrs gq, c<+rk gS 

(c) MC oØ AR dks dkVrs gq, c<+rk gS  

(d) mi;qZDr lHkh 
 

30.  Under perfect market conditions the individual firm in the industry has control 
over the price of product. 

(a) Some      (b) Full 

(c) No       (d) None of the above 

 

(a) dqN   (b) iw.kZ 

(c) ugha   (d) buesa ls dksbZ ugha 
 

 

 



 
 

31. In a perfect competitive market  

(a) Firm is price maker and industry are price taker 

(b) Firm is price taker and industry are price maker 

(c) Both are price makers     

(d) Both are price takers 

 

(a) QeZ ewY;nkrk gS vkSj m/kksx ewY; ysus okyk gS 

(b) QeZ ewY; ysus okyk gS rFkk m/kksx ewY;nkrk gS 

(c) nksuksa ewY;nkrk gS 

(d) nksuksa ewY; ysusokyk gS 
 

32. The market structure with the perfect mobility of factors and products is called- 

(a) Perfect competition    (b) Monopoly 

(c) Monopolistic competition    (d) Oligopoly 

 

(a) iw.kZ izfr;ksfxrk (b) ,dkf/kdkj 

(c) ,dkf/kdkjkRed izfr;ksfxrk (d) vYikf/kdkj 
 

33. Excess capacity and high advertising expenditure are encountered in: - 

(a) Monopolistic competition    (b) Perfect competition 

(c) Monopoly      (d) Non-profit competition 

 

(a) ,dkf/kdkjkRed izfr;ksfxrk esa (b) iw.kZ izfr;ksfxrk esa 

(c) ,dkf/kdkj esa (d) xSj&ykHkdkjh izfr;ksfxrk esa 
 

 

 



 
 

34. In the long run, a firm in monopolistic competition has  

(a) A price that exceeds its overrange total cost     

(b) A marginal cost that exceeds its price 

(c) A price that exceeds its marginal cost    

(d) An average total cost that exceeds its price 

 

(a) dher tks bldh vkSlr dqy ykxr ls vf/kd gks 

(b) lhekar ykxr tks bldh dher ls vf/kd gSA 

(c) ,d dher tks bldh lhekar ykxr ls vf/kd gSA 

(d) ,d vkSlr dqy ykxr tks bldh dher ls vf/kd gSA 
 

35. In the long run a firm in monopolistic competitive industry has its price equal to- 

(a) Marginal cost     (b) Marginal revenue 

(c) Elasticity of demand    (d) Average total cost 

 

(a) lhekar ykxr (b) lhekar vkxe 

(c) ekax dh yksp (d) vkSlr dqy ykxr 
 

36. In the long run a firm in monopolistic competitive industry produces where is 
marginal cost- 

(a) Equal to price     (b) Cost is less than its average 

(c) Equal its average cost    (d) Exceed its average cost 

 

(a) blds ewY; ds cjkcj (b) vkSlr ls de 

(c) vkSlr ykxr ds cjkcj (d) vkSlr ykxr ls vf/kd 
 

 



 
 

37. In monopolistic competition firm can earn an economic profit in 

(a) The short run but not long run   

(b) The short run and in long run 

(c) The long run but not in short run   

(d) Neither the long run nor short run 

 

(a) vYidky esa ysfdu nh?kZdky esa ugha 

(b) vYidky rFkk nh?kZdky nksuksa esa 

(c) nh?kZdky esa 

(d) uk rks nh?kZdky esa uk gh vYidky esa 
 

38. A cartel usually has a collusive agreement to- 

(a) Lower the price    

(b)  Boost the output 

(c) Restrict the output    

(d) Increase the number of firms in the industry 

 

(a) de dher djus ds fy, (b) mRiknu dks c<+kok nsus ds fy, 

(c) mRiknu izfrcaf/kr djus ds fy, (d) m/kksx esa QeZ dh la[;k c<+kus ds fy, 
 

 

 

 

 

 

 

 

 



 
 

39. Firms in monopolistic competitions make product that are – 

(a) Close but not perfect substitutes   (b) Perfect substitutes 

(c) Close but perfect complements   (d) Perfect complements 

 

(a) djhc ysfdu iw.kZ fodYi ugha gksrh gS 

(b) lgh fodYi gksrh gS 

(c) djhc ysfdu iw.kZ iwjd ugha gksrh gS 

(d) iw.kZ iwjd 
 

40. In monopolistic competition, each firms marginal revenue curve lies------ its demand 
because of-----------. 

(a) Above: barrier to entry    (b) Below: product differentiation 

(c) Below: barrier to entry    (d) Above : product differentiation 

 

(a) Åij] izos”k ds fy, ck/kd (b) uhps] oLrq foHksnhdj.k 

(c) uhps] izos”k ds fy, ck/kd (d) Åij] oLrq foHksnhdj.k 
 

 

 

 

 

 

 

 

 

 



 
 

41. If the market demand curve far a commodity has a negative slope, then the market 
structure must be- 

(a) The market structure cannot be determined from the information   

(b) Imperfect competition 

(c) Perfect competition     

(d) Monopoly 

 

(a) nh xbZ tkudkjh ls cktkj lajpuk dk fu/kkZj.k ugha fd;k tk ldrk gSA 

(b) viw.kZ izfr;ksfxrk 

(c) iw.kZ izfr;ksfxrk 

(d) ,dkf/kdkj 
 

42. Marginal revenue is equal to price for which are one of the following type of market 
structure? 

(a) Perfect competition    (b) Monopolistic competition 

(c) Monopoly      (d) Oligopoly 

 

(a) iw.kZ izfr;ksfxrk (b) ,dkf/kdkjkRed izfr;ksfxrk 

(c) ,dkf/kdkj (d) vYikf/kdkj 
 

 

 

 

 

 

 



 
 

43. If an imperfect competitive firm is producing a level of output where marginal cost is 
equal to marginal revenue, marginal revenue is below average variable cost and price is 
equal to average total cost then the firm is- 

(a) Minimizing short run average cost  (b) In short run equilibrium 

(c) In long run equilibrium   (d) None of the above 

 

(a) vYikof/k vkSlr dqy ykxr dks de djrk gS 

(b) vYidkyhu larqyu esa gksrk gS 

(c) nh?kZdky larqyu esa gksrk gS 

(d) buesa ls dksbZ ugha 
44. Average revenue curve is also known as- 

(a) Profit curve     (b) Demand curve 

(c) Average revenue curve    (d) Indifference curve 

 

(a) ykHk oØ  (b) ekax oØ 

(c) vkSlr ykxr oØ (d) mnklhurk oØ 
 

45. A monopolist is able to maximise his profit when- 

(a)  His output is maximum   (b) He charge a high price 

(c) His average cost is minimum  (d) MC=MR 

 

(a) mldk mRiknu vf/kdre gks  

(b) og Å¡ph dher olwy djrk gS 

(c) vkSlr ykxr U;wure gks 

(d) lhekar ykxr lhekar jktLo ds cjkcj gks 



 
 

 

46. A firm encounters its shut down point when:- 

(a) Average total cost equals price at the profit maximizing level of output  

(b) Average variable cost equal at the profit maximizing level of output 

(c) Average fixed cost equal price at the profit maximizing level of output    

(d) Marginal cost equals price at profit maximizing level of output 

 

(a) vkSlr dqy ykxr mRiknu ds vf/kdre ykHk Lrj ij dher ds cjkcj gksrh gSA 

(b) mRiknu ds vf/kdre ykHk Lrj ij vkSlr ifjorZuh; ykxr leku ewY; gksA 

(c) vkSlr fLFkj ykxr mRiknu ds vf/kdre Lrj ij leku ewY; gksA 

(d) lhekar ykxr mRiknu ds vf/kdre ykHk Lrj ij dher ds cjkcj gksrh gSA 
 

47. Supposing a firm is producing a level of output such that MR>MC, what should the 
firm do to maximize its profits? 

(a) The firm should do nothing  (b) The firm should hire less labour 

(c) The firm should increase price  (d) The firm should increase output 

MR > MC 

 

(a) QeZ dks dqN ugha djuk pkfg, 

(b) QeZ dks de Jfed j[kuk pkfg, 

(c) QeZ dks dher c<+kuh pkfg, 

(d) QeZ dks mRiknu c<+kuk pkfg, 
 

 

 

 

 

 



 
 

48. Which of the following is not an essential condition of pure competition? 

(a) Large numbers of buyers and sellers (b) Homogeneous product  

(c) Freedom of entry    (d) Absence of transport cost 

 

(a) Øsrkvksa rFkk foØsrkvksa dh cM+h la[;k 

(b) le:i mRikn 

(c) izos”k dh Lora=rk 

(d) ifjogu ykxr dk vHkko 
 

49. A monopolist is able to maximize his profit when? 

(a) His output is maximum   (b) He charge a high price 

(c) His average cost is minimum  (d) MC=MR 

 

(a) mldk mRiknu vf/kdre gksA 

(b) og mPp dher olwyrk gksA 

(c) mldk vkSlr ykxr U;wure gksA 

(d) mldk lhekar ykxr lhekar vkxe ds cjkcj gksA 
 

50. The break-even point is the output level at which- 

(a) MC=MR     (b) TC=TR 

(c) AFC=AVC     (d) AC=AR 

 

(a) MC = MR  (b) TC = TR 

(c) AFC = AVC (d) AC = AR 
 

 

 



 
 

51. As compared to a perfectly competitive firm, monopoly firm will- 

(a) Produce more and charge a low price  

(b) Produce less and charge a high price 

(c) Produce more and charge a high price 

(d) Produce less and charge a low price 

 

(a) vf/kd mRiknu rFkk de dher ysxhA 

(b) de mRiknu rFkk vf/kd dher olwysxh 

(c) mRiknu vf/kd rFkk vf/kd dher olwysxh 

(d) de mRiknu rFkk de dher olwysxhA 

 

 

 

 

 

 

 

 

 

 

 

 

 


